1285
BEFORE THE
FLORIDA PUBLIC SERVICE COMMISSION

o

In the Matter of : DOCKET NO. 9B069%6-TP
Determination of the cost of
basic local telecommunications:
service, pursuant to z
Section 364.025, i
Florida Statutes :

VOLUME 12

Pages 1285 through 1411

PROCEEDINGS HEAPING

BEFORE: CHAIRMAN JULIA A. JOHNSON
COMMISSIONER J. TERRY DEASON
COMMISSIONER SUSAN F. CLARK
COMMISSIONER JOE GARCIA
COMMISSIONER E. LEON JACOBS

DATE: Tuesday, October 13, 19598

TIME: Concluded at 7:20 p.m.

LOCATION: Betty Easley Conference Center
Box 148

4075 Esplanade Way
Tallahassee, Florida

REPORTED BY: JANE FAUROT, RFPR

(APPEARANCES: As heretofore noted.)

BUREAU OF REPORTING
PECEIVED /0-29-98 -

DOCUMENT MNU'™2r & -DATE

I 1499 ocT L@

VCRTING




INDEX
WITNESSES
NAME
DR. ROBERT M. BOWMAN
Continued Cross Examination by Mr. Ruscus

Redirect Examination by Ms. Keyer

MEADE C. BEAMAN
Direct Examination by Mr. Powell
Prefilei Direct Testimony Inserted
Prefiled Rebuttal Testimony Inserted
Cross Examination by Mr. Hatch
Cross Examination by Mr. Henry
Cross Examination by Mr. McGlothlin

Cross Examination by Mr. Cox

PAGE NO.

1288

1297

12398

1306

1330

1352

1393

1402

1406

1286




Number
52 and 53
54

55

EXHIBITS - VOLUME 12

Witness Seaman MCS-1 and 2

MCS 8-2 (Rebuttal)

IID+

1305

1305

1287

1297

1409

1409




10

11

12

13

14

15

16

17

18

15

20

21

22

23

24

25

1286

PROCEEDINGS
(Transcript follows in sequences from Volume 11.)
DR. ROBERT M. BOWMAN
continues his testimony under cath from Volume 11:
CONTINUED CROSS EXAMTNATION
BY MR. RUSCUS:

Q Let's turn to the prior page, Page 22. I think
this will prcvide a useful comparison. 22 identifies -- the
chart on 22 identifies A-side locops that are nonexistent
that are only 3,000 feet long, that are 3,000 feet long,
6,000 feet long, 9,000 feet, and 12,000 feet long. Do you
see those?

A I see that table, yes.

Q Those modems, all of the modems identified as
having two conversions function at between 19.2 kilobits and
24 kilobits, correct?

A Well, on the A-anide --

Q All the ones that have two conversions in the
left-hand column between 3 and 12,000 feet function between
15.2 and 24, correct?

A Yes, in this test.

Q That is lower than the connect rate that your own
data says it has experienced for long modems on the other

table, correct?
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A I know, but this is a different test. He 18 now

testing the number of -- the impact of the number of analog

to digital conversions that would occur in the process.

Q That is correct.
A So he is testing another assumption here.
Q That'e correct. And those are the same types of

conversions that are involved in any network that uses
universal digital loop carrier, correct?

A Yes, but not necessarily two conversions.

Q Wel , isn't it true that if you complete a cell
on universal digital loop carrier, the aignal comes from the
phone as analog, is turned into digital at the DLC, which is
one conversion, and turned back into analog at the COT at
rhe central office?

A 1 was taking a moment to read what was here. I
have forgotten the -- okay, and your question, again. 1
mean, the purpose of this was to determine the impact of
increased analog to digital conversions on the quality of
modem connection.

Q And isn't it true that two conversions is the
same number experienced if you are using universal digital
loop carrier, one at the DLC unit and one at the central

aoffice terminal?

A I stand corrected. I do believe under his

definition that would be the case.
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Q And ien't it true that BellSouth predominantly at

this point still deploys universal digital loop carrier and
not integrated digital loop carrier when it uses digital
loop carrier sclutiona?

A BellSouth may, but that is immaterial to what is
deployed in this model.

Q But wouldn't that indicate --

A Integrated digital loop carrier is the technology
of choice and the technology that is modeled in the RCPM
model. It's my understanding that is what is modeled in
Hatfield, also. So whether or not BellSouth does this in
their network today -- certainly BellSouth deploys
integrated digital loop carrier today. I don't want to make
an assertion that they don't do that. Every telephone
company still has some of this digital -- the universal

digital loop carrier deployed today.

Q And do you know what percentage of BellSouth's is
universal?
A Mo, I don't, and I think it's immaterial to the

purpose of deciding which cost proxy model should be used,
because the BCPM uses integrated digital loop carrier in
their model, and I believe HAI does the same thing.

Q As a point of reference, though, isn't it true
that using the data on Page 22 and the data on Fage 23, you

could conclude that the rates, even on the half a percent of
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longest loops in the Hatfield model using integrated digital

loop, as you say, are going to perform better than what
current BellSouth customers have where even on the shortest
loops where universal digital loop carrier is used?

A Well, I haven't made that detailed comparison,
but certainly building a network by integrating digital loop
carrier is going to give all people better performance. But
all other things being equal, if it is all integrated those
with longer loops compared to those with shorter loops may
see impaired service.

Q But you didn't answer my guestion regarding the
current state of the network in BellSouth and the Hatfield
model longest loops. Even for the shorcest loops --

A Okay. Are you starting a question? 1'm sorry, 1
must have misunderstood your question.

Q I asked you not what would happen between loops
that were both served by integrated, but I asked you to
confirm or deny my statement that even the shortest loopse in
the BellSouth network, if they are served by univereal
digital loop carrier, will perform less well than the
longest loops which constitutes half of a percent of all
loope in the Hatfield model served by integrated, based on
the data on Pages 22 and 237

A I'm sorry, I thought I did answer that guestion.

I said I have not analyzed that specifically to see that




10

11

12

13

14

15

16

17

18

19

20

21

22

23

44

25

1392
that is the case. And I will let the rest of my answer

stand, that I think that is immaterial for the purposes of
determining models here.

Q 1 have one more question about this document.
Isn't it true that chese tests, which are the source of your
support for your contention, at least what is provided here,
were not run using the extended range cards that both the
BCPM model and the Hatfield model used?

A I believe that is correct.

(o] Let's talk about digital servicea for just a
moment. Isn't it true with the extended range cards which
both we claim and you claim you use, it's possible to
provide ISDN service which is the digital advanced service,
out to 18,000 feer?

A I would say no. You would not use these digital
line -- you do not use these line cards for the provision of
ISDN pervice. You would need an entirely different
equipment connectivity to the copper loop to provide 1SDN
service. 8o, no, I would disagree with that. You couldn't
even provide ISDN with this equipment.

Q wWhich one, which equipment?

A Any of these line cards that were talked about in
the digital loop carrier systems here.

Q 8o your claim is that you could provide ISLN

service in neither the BCPM nor the Hatfield model as
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presently configured, is that correct?

A Not using these line cards. ISDN requires the
addition of additional equipment at the digital loop carrier
gite and at the customer site to make it work as an ISDN
line.

Q Okay. 8o neither model doea it now, but if you
had the proper cards, because they are not equipped with the
right cards, but if they had the right cards, isn't it true
you could provide ISDN out to 18,0"" feet?

A I would say not univeresally, no. You could
provide ISDN, the issue is would every line to 18,000 feet
work? And the answer is probably not. Again, it's the same
issue. ISDN and any of these other advanced services, the
lenger the loop, the more difficulty it has in operating.
There are tons of other technical issues associated with the
longer loops associated with this equipment.

Q You testified in the South Carclina proceeding
earlier this year, ie that correct?

A Yen.

Q I would like to read a Q and A from your
testimony there and ask if you recall this testimony.

"Question: When you say on Line 35 the extended
range line card and larger cable size are necessary to
ensure comparable access toc advanced services, that's not a

statement you agree with today, is that correct?
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"Answer: No, I still agree with that as the

answer. There are other services other than just modems,
and this sentence in my testimony was designed to capture
sort of advanced services in general. You have other
things, another one that is very much on many pecples' mind
is ISDN. In most cases, for whatrver technical reasons, you
can make ISDN lines work out to 18,' )0 feet using extended
range line cards."”

De you recall that answer?

A Yes, 1 do. But I'm a lot smarter now than I was
then.

Q Are you aware of a company called Adtran
{(phonetic)?

A I've heard the name, yes.

Q Are you aware that Adtran is currently

advertising ISDN carde which permit those advanced services

up to 30,000 feet?

A No, I'm not.
Q Have you consulted the Adtran web page recently?
A No, I have not. I have consulted some ISDN user

group web pages, and a lot of the discussion on those pages
involves loop length and ct's impact on service. And what I
got out of looking at that user group information le there
are many claims about the ability of ISDN to work on loops,

but in the real world when you go out and try and deploy
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this equipment, it doesn't always work on the longer loops.

And many customers have reported because of loops
even much shorter than 18,000 feet they can't make it work
sometimes because of -- there are many criteria. The plant
is older aged. There are bridge taps on the plant. A
change in the cable gauge from 24 to 26-gauge, which 18 one
of the items that the HAI model anticipates in ita network
and BCPM does not. The change in gauge affects this because
you get reflections on the line. Other issues are other
services that may be in the same binder group or 25 pair
cable in the network, and any other services such as modems
working over these lines, or other ISDN lines working over
lines that are near them.

All of these things are issues in the provision
of services such as ISDN on longer loops. And it's a
problem. You know, you can't give everybody a separate pair
of wires that will guarantee them service. §o the issuv= is
can you build a network that gives most pecple the best
opportunity to use these services, and that's what we are
trying to do with BCPM.

Q Are you familiar with the Bellcore three-volume
telecommunications transmission engineering treatise?

A Is that what it's called? I may be. I am
familiar with some Bellcore transmiseion engineering

documents.




10

11

12

14

15

lé

17

la

19

20

21

22

23

24

1296
Q Volume 3 is called network and services; the

three volumes is called telecommunications transmission
engineering. The first volume is principles, the second
volume is facilities, and the third volume is network and
services. Are you familiar with that document?

A I can't say for sure that I am. I Fkelieve 1 am,
pat I'm not sure.

Q So is it safe to say you don't know what the
range over which that document states ISDN services can be
provided?

A Can be provided in all cases? No, I guess I
don't. Not without referring to it in some fashion to read
it.

Q And, again --

A I1f something says it can be provided to some
distance, even such as this press release from BellSouth
that says ADSL can work up to 18,000 feet, you know, that
should not be construed to say that it will work on every
13,000 foot loop, because it will not.

Q But you have agreed that only half of a percent
of all loops in the Hatfield model are even over 12,000
feet, correct?

A Yes, and that is significantly more than the
number of loops in the BCPM model over 12,000.

MR. RUSCUS: I have no further questiona.
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CHAIRMAN JOHNSON: Mr. Melson.

MR. MELSON: No questiona.

MR, COX: The Staff has no questions for Dr.

Bowman .
CHAIRMAN JOHNSON: Commissioners? Redirect.
MS. KEYER: Actually, I just have one clarifying
question,
REDIRECT EXAMINATION
BY MS. KEYER:
Q Earlier today there was a discussion about the

size of the microgrid versus the macrogrid, and I just want
to clarify that the microgrid is the 58 acrea that we talked
about this morning, and the macrogrid is the 12,000 by
14,000 feer, is that correct?
A That's correct.

MS. KEYER: Thank you. No further questions.

CHAIRMAN JOHNSON: Exhibits.

MS. KEYER: Yes. I would like to move Exhibit 53
-- 52 and 53.

CHAIRMAN JOHNSON: Show those both admitted
without objection.

(Exhibit 52 and 53 received into evidence).

CHAIRMAN JOHNSON: Thank you, sir.

WITNESS BOWMAN: Thank you.

MR. POWELL: Madam Chair, I believe Meade Seaman
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for GTE is the next witnesa.

CHAIRMAN JOHNSON: Okay.

Thereupon,

MEADE C. SEAMAN
was called as a witness on behalf of GTEFL and, having been
dulyv sworn, testified as follows:

DIRECT EXAMINATION

BY MR. POWELL:

Q Mr. Seaman, pleape state your full name and
business addresu?

A My name is Meade, M-E-A-D-E, C. Seaman,
§-E-A-M-A-N, and my business address is 600 Hidden Ridge,

Irving, Texas.

Q Mr. Seaman, by whom are you employed, and in what
capacity?
A GTE, and I'm the Assistant Vice President of

Marketing Services.

Q Have you caused to be filed in this docket direct
testimony on August the 3rd, with two exhibits, MCS-1 and
MCS-2, as well as rebuttal testimony on September the 2nd,
with a single exhibit, MCS8-37

A Yes, 1 have.

Q Did you also cause to be filed on or about
October 9th, under cover letter from your counsel, corrected

Pages 21 to 23 of your August 3 direct testimony, as well as
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a corrected Exhibitc MC5-27

A Yes, I have.

Q Was your testimony and these exhibits, were they
prepared by you or under your direction?

A Yes, they were.

MR. POWELL: Madam Chair, a* this time I would
ask that Mr., Seaman's direct and rehuttal testimony be
inserted into the record as though read here.

MR. RECK: Madam Chairman, I have an objection.
Madam Chairman, I have an objection to a portion of Mr.
Secman's testimony.

CHAIRMAN JOHNSON: Okay.

MR. BECK: Page 14, Lines 4 through 12, My
objection is that his testimony is not relevant to any lirsue
in this proceeding. Mr. Seaman provides what they claim is
GTE's intrastate regulated earnings, a minus there,
directory advertising revenues, and provides that return on
eguity.

The issues in this case concern the cost of basic
local telecommunications service, Whether GTE's return on
equity is 7 percent, or 40 percent, or negative 15 percent
has no bearing on the issues in this case. In fact, GTE is
the only company that is attempting to provide such
testimony. BellSouth, Sprint, the smaller companies, none

of them are providing information about their return on
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equity. And the reascn is it is simply not relevant, so I

move to strike that portion of his testimony.

CHAIRMAN JOHNSON: And thope were -- the lines
were 8 through --

MR. BECK: Four through 12.

CHAIRMAN JOHNSON: Response?

MR. POWELL: Thank you, Madam Chair. This part
of Mr. Seaman's testimony, as with other parts, goes to the
fundamental point that GTE believes is important for the
Commission and tor the legislature that the actual costs of
the company are very pertinent with respect to the whcle
issue of universal service.

It is a fact that the Commission im called on by
the legislature to recommend one of the two models that have
been presented to the Commission, but it is very much a part
of GTE's evidence and position in this matter, and we think
it is consistent with the whole purpose of the legiplative
inguiry that overall company results and actual costs be not
only a part of the record, but considered by the Commission
and considered by the legislature.

MR. BECK: Madam Chairman, counsel for GTE has
not provided, first of all, any issue that it is related to,
because it's not, and certainly their cost of local
telecommunications service is relevant, but that's not what

thise is.
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CHAIRMAN JOHNSON: Any final response?

MR. POWELL: May I have a moment, Your Honor?

CHAIRMAN JOHNSON: Quickly. Mr. Beck, does Mr,
Olson's testimony discuss the return on eguity?

MR. BECK: Yes, Mr. Olson is scheduled next. Mr.
Oleon ie the -- and I intend to object to his testimony in
its entirety.

CHAIRMAN JOHNSON: Okay.

MR. POWELL: Your Honor, the only other thing I
would add to this is that I think there ia an evident degree
of seamlessness to Mr. Seaman's testimony. He has financial
results for the company in the State of Florida for 1997,
Those results are important to GTE's effort to lay before
the committee, before the Commission and alsc before the
legislature, the extent of the subsidies that exist today
that are implici® in the disoriented rates that exist today.

It strikes me as surprising, I guess, that
counsel would cbject to a portion of these numbers which
they all interrelate, there is nothing very unusual or
startling about the numbers. They are what they are. They
reflect GTE's actual coet of deing business in Florida and
providing universal service today, and we believe they are a
very fair reality check on what it's going to cost tomorrow
and the day after tomorrow to continue to provide universal

pervice. We believe the cbjection is ill-founded.
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CHATRMAN JOHNSON: And as to the return on

equity, what issue does that relate to?

MR. POWELL: Well, again, it goes to the
seamlessness of all the numbers. I mean, the return on
equity is a number that is derived from the numbers in Mr.
Olson‘'s exhibit, which is a part of the data on which Hr.
Seaman relies in his testimony.

CHAIRMAN JOHNSON: Staff, any recommendation?

MR, COX: I'm not sure we see any relevance to
the Coomission's determination on cost here to this
information on retui. on equity and earnings and whatnot
that is contained both here and in Mc. Olson's testimony,
for that matter. It was raised, we understand, in Mr.
Olson's testimony in particular.

There was a discovery dispute in this case
between the Office of the Public Counsel and GTE over some
information related to that. The prehearing ~fficer granted
Office of the Public Counsel the opportunity to look at that
information, but as far as relevance, I think Staff would
contend that it is probably not relevant to the
decermination in this proceeding.

CHAIRMAN JOHNSON: One of the things 1 was trying
to -- I'm inclined to grant the motion to strike, but
candidly I'm not following your argument or your points as

to relevancy. And I guess there are two issues here that
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are being debated; the cost information that I know that

this witness just kind of references Mr. Olson's testimony
as to some of the actual cost information that is raised in
Mr. Olson's testimony, and alsc the return on equity.

And I understand you to suggest that the return
on equity analysis is relevant to the overall reason that we
are hers, but, see, when you start going down that slippery
slope then it looks as if perhaps you are suggesting that
thiszs should be some type of a rate of return proceeding and
analyesis. That's what I was hearing you say.

COMMISSIONER CLARK: I heard that, too.

CHAIRMAN JOHNSON: And I was surprised. I will
grant the motion to strike.

MR. BECK: Thank you.

CHAIRMAN JOHNSOMN: And that is Lines 4 through 12
on Page 1l4.

COMMISSIONER CLARK: Mr. Beck, did I hear you
were going to object te Mr. Olson, the testimony in the
entirety?

MR. BECK: Yes, for exactly the same reasons.
The reas n I raise it now is because Mr. Seaman quotes and
describes Mr. Olson'e testimony, so simply to preserve the
objection.

COMMISSIONER CLARK: I wonder if it makes sense

to take it up, and if we are not going to hear him he
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doesn't need to stay around.

CHAIRMAN JOHNSON: And he will be next.

COMMISSIONER CLARK: And : imagine he will be
Lomorrow.

CHAIRMAN JOHNSON: He will be tomorrow morning.
He probably can't catch a plane out tonight anyway. We will
just proceed with this one.

MR. POWELL: 1I'm sorry, Your Honor.

CHAIRMAN JOHMNSON: No, we will go forward. I
just granted the motion to strike Lines 14 through 12 on
Page 14 -- or 4 through 12 on Page 14.

M8. CASWELL: 1I'm sorry, did I hear Mr. Beck say
he would cbject to Mr. Olson's testimony in its entirety?
Is that what you said, Charlie?

MR. BECK: Yes.

CHAIRMAN JOHNSON: And I'm going to wait until
tomorrow to rule on that, and that will give me an
opportunity to review it. I already understand the basis of
the argument, and give you all some opportunity to prepare.

MS. CASWELL: Thank you.

CHAIRMAN JOHNSON: With that objection being --
or that motion to strike being granted, there was a motion

to insert this into the record as though read?

MR. POWELL: Yes, ma'am. And I would also ask

that you mark for identification the three Seaman exhibits.
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CHAIRMAN JOHNSON: We will insert this into the

record as though read with those couple of provisions
stricken, and MCS-1 and 2 will be Exhibit 34 (sic), MCS-3,
rebuttal, will be Exhibit 55,

(Exhibit 54 and Rebuttal Exhibit 55 marked for

identificatcion.)
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GTE FLORIDA INCORPORATED
DIRECT TESTIMONY OF MEADE C. SEAMAN
DOCKET 980686

PLEASE STATE YOUR NAME, BUSINESS ADDRESS, AND

POSITION.

My name is Meade C. Seaman. My business address is 600 Hidden
Ridge, Irving, Texas. | am employed as Assistant Vice President -
Marketing Sen'ces. | am testifying in this proceeding on behalf of GTE
Florida Incorporated ("GTE").

PLEASE SUMMARIZE YOUR EDUCATIONAL BACKGROUND AND
EXPERIENCE IN THE TELECOMMUNICATIONS INDUSTRY.

| graduated from the University of South Florida in 1976 with a
Bachelor's degree in Accounting. In 1888, | graduated from Indiana
Wesleyan University with an MB.A. | have over 20 years of oxperience
in the telecommunications industry. In 1976, | joined Genera
Telephone of Florida as a Business Relations Assistant. In 1883, |
became a Staff Manager - Interchanged Service Compensation at GTE
Service Corporation. In 1985, | was employed by GTE North
Iincorporated as Manager - Economic Analysis (Pricing and Costing),
and in 1989, | was named Director - Regulatory and Industry Affairs.
In Oclober 1884, | became Direclor - Demand Analysis and Forecasting
for Telops, where | was responsible for forecasting all line-related and
usage-related services. In 1996, | bacame the Direclor - Local
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Competition/interconnection Program Management Office for Telops,

and was responsible for interconnection negotiations with ﬁlml

markel entrants. In 1987, | was named Vice President entral

Reguiatory & Governmental Affairs for Telops. Earlier this year, | was
appointed to my current position.

HAVE YOU PREVIOUSLY TESTIFIED BEFORE ANY REGULATORY

BODIES?

Yes. | have testified in nine states in arbitration proceedings arising
under the T lecommunications Act of 1996 (“the Act”): in Hawall, Idaho,
Winols, Indiana, Ohio, Pennsylvania, South Carolina, New Mexico, and
Wisconsin. | also have testified on matters related to policy, rate
design, unbundied network elements ("UNEs") and cost of service
studies before many of these same state commissions.

WHAT IS THE PURPOSE OF YOUR TESTIMONY?

First, | will provide an overview of GTE's direct testimony in this
proceeding by identifying each GTE witness and the issues they will
address. Second, | will describe the general principles that run
throughout (and should govern) all the issues to be addressed in this
docket. Third, | will set forth GTE's specific positions on issues 1, 2, 3,
and 5(a) Identified for resolution in this proceeding, and will explain
how these issues relate to, and are affected by, Section 254 of the Act
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L. OVERVIEW OF GTE'S PRESENTATION $308

PLEASE LIST THE OTHER WITNESSES GTE IS PRESENTING IN
THIS DOCKET, AND PLEASE IDENTIFY THE ISSUES ADDRESSED
BY EACH WITNESS.

In addition to my testimony, GTE is presenting the direct testimony of
five witnesses:

Mr. Steven A. Olson identifies GTE's current, actual costs of providing
telecommunications services in GTE's territory. As | discuss in my
testimony, this information is relevant to the calculation of today's
impiicit universal service support, and therefore provides a guide to the
Commission in selecting an appropriate cost model and associated
inputs used to help calculate explicit support.

Mr. David G. Tucek presents numerous GTE-specific inputs to the
Benchmark Cost Proxy Model ("BCPM") and the output results from
BCPM.

Mr. Michael R. Normris presents GTE-specific inputs for use in the
BCPM which deal specificaily with various expense items and general
support assel categories.

Dr. James H. Vander Weide presents the forward-looking cost of
capital to be used as an input to the BCPM

.
‘
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Mr. Allen E. Sovereign presents the economic depreciation lives to be
input into the BCPM

Il. GENERAL. PRINCIPLES APPLICABLE TO ALL ISSUES
WHAT GENERAL PRINCIPLES APPLY TO ALL THE ISSUES
PRESENTED IN THIS DOCKET?

in this docket, the Commission must evaluate and select a cost model
that calculates the total forward-looking cost of providing basic local
telecommunications service. To the extent such a model will be used
to help establish a permanent universal service fund for the State of
Florida, the results of the model must be sufficient lo preserve,
maintain, and advance universal service as required by Section 254 of
the Act and by Section 364.025 of the Florida Statutes. These
fundamental principles—ensuring a "sufficient® universal service fund
and “preserving and maintaining® today’s levels of universal service--
apply to all the issues presented in this docket.

Given the above objective, the critical question presented in this docket
is easily stated. “How can we delermine whether a particular forward-
loaking cost model is appropriate for establishing a parmanent universal
service mechanism that is sufficient fo preserve and maintain universal
service7 To answer this question, we should evaluate a cos! model by
comparing s results to today’s levels of implicit universal service
support. In this way, we can assess whether a cosl model's results aie

sufficient to preserve and maintain universal service.
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Let me explain this last poinl. Promoting universal service has been a
longstanding goal of this Commission. To date, the goal of universal
service has been achieved through a system of implicit supports
embedded in GTE Florida's rates. Under the Act, today’s implicit
supports must be replaced with a sufficient, explicit fund. Since the
purposa of a universal service cost model is to heip establish an explicit
fund, the appropriateness of the model can be judged by comparing its
rasults to today’s implicit supports.

HOW CAN WE CALCULATE TODAY'S LEVELS OF IMPLICIT
UNIVERSAL SERVICE SUPPORT?

We can reasonably estimate today’s levels of universal service support
by comparing (1) the current revenues genarated by services that are
now priced above their economic cost, with (2) the revenues that would
be generaled by such services if their prices were equal fo their
economic costs.

For example, interstate and intrastate access services are currently
priced above their cost, and thus provide significant amounts of implicit
universal service support. Wae can calculate the amount of implicit
support provided by these services by comparing current access

revenues with the revenues that would result if access services wera

priced at economic cost.

HAVE YOU PERFORMED SUCH A CALCULATION?

t310
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following *Support Analysis:*
1997
Revenue
Service ($'000)

131

Yes. Using the methodology described above, | have calculated the
current implicit supports generated by five classes of services: (1) local

business service, (2) vertical services; (3) toll service, (4) intrastate

access service, and (5) interstale access service. As shown below, the

amount of implicit support provided by these five categories of services

was more than $487 million per year in 1957, as depicted in the

(a)

Local Business $305,704
Vertical Services §78,822

Toll

$368,367

Intrastate Access $159,382

Interstate Access $191,268

Total

$771,643

*Economic”
Costs
($'000)
(b)

$217,011
$10,267
$7,009
$14,240
§35,924
$284,451

Implicit
Supports
(§'000)
(c)=(a-Db)
$88,693
$68,555
$20,358
$145,142
$155,344
$487,092

HOW WAS THIS SUPPORT ANALYSIS DEVELOPED?

The five service categories shown reflect the major sources of
network-related revenues and are the typically identified sources of

implicit support for basic local rates.

Column (a) reflects the annual revenues for the listed services for

1997. Column (b) reflects the revenues that would be generated by
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these services assuming the price of each service was reduced to
reflect its economic cost as determined by the Commission's own
findings regarding the costs of unbundied network elements and the
avoided retailing expenses set forth in its 1997 Order in GTE's
consolidated arbitrations with AT&T and MCI. (Petitions of AT&T

1866, Order No. PSC-97-0064-FOF-TP, Jan. 17, 1897.)

Finally, column (c), which is simply the difference between columns (a)
and (b), reflects today's implicit support inferred by the Commission’s
own findings of fact. My Exhibit MCS-1, attached, presents a summary
descriplion of the process used to develop retail "economic costs”
based on the Commission's ordered UNE rates for GTE.

COULD YOU EXPLAIN IN MORE DETAIL HOW YOU DETERMINED
THE ECONOMIC COST OF EACH SERVICE?

Yes. The economic costs of local business service and toll service
were calculated by adding up the costs of the UNEs used in the
provision of each service. These UNE costs, however, reflect only
wholesale cosls, and must be marked up to reflect the retailing
expenses that would be incurred in providing business and toll
services. For these services, | marked up the total UNE costs lo
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account for retailing expenses based on the Commission's avoided cost
discount rate of 13.04%, which was establishad by the Commission in
GTE's arbitration with MCIl and AT&T.

Iinterstate and intrastate access are wholesale offerings, and therefore
the associaled UNEs were not marked up by the avoided cost discount
Also, the interstale access figures exclude end-user common line
(*EUCL") charges, which were included in the local revenues.

Finally, we assumed the economic cost of vertical services to be equal
to just the costs associated with retailing the services (Lg., the avoided
retalling expenses). This procedure was used because the
Commission required GTE to include all vertical features in the price of
local switching, presumably because the Commission believed the
direct costs of unbundied vertical features are negligible. Although
GTE does not agree with the Commission's decision on this point, GTE
acknowledges that vertical services are today priced well above their
cost, and therefore provide significant implicit supports. Again,
however, under the Commission's own analysis, the economic cost of
unbundled vertical services is either. (a) zero or (b) included in the
unbundled port costs.

YOUR SUPPORT ANALYSIS LOOKS AT THOSE SERVICES THAT
CURRENTLY PROVIDE IMPLICIT SUPPORT. CAN YOU PERFORM
THE SAME ANALYSIS FOR SERVICES THAT RECEIVE IMPLICIT

13139
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SUPPORT, SUCH AS BASIC RESIDENTIAL SERVICE? .

Yes. Not surprisingly, this analysis likely would yield a support amount
that is less than the support amount of $487 million calculated above
The difference between these two calculations can only be due to

erroneous UNE rates.

PLEASE EXPLAIN WHY THE ECONOMIC COSTS OF UNBUNDLED
ELEMENTS ARE RELEVANT IN DETERMINING THE ECONOMIC
COSTS OF SERVICES.
Although GTE does not agree with the Comiission's findings on the
economic cuats of UNEs, GTE believes that the costs of unbundied
elements should be consistent with the costs of services provided
through use of those same elements. In simpler terms, the economic
cost of a nelwork should be consistent with the economic cost of
services provided over thal network. This relationship between the
costs of UNEs and the cosls of services is recognized in Section
364.051(6){(c) of the Florida Statutes:

"The price charged to a consumer for a nonbasic service

shall cover the direct costs of providing the service and

shall, to the extent a cost is not included in the direct

cosl, includa as an imputed cost the price charged by the

company to competitors for any monopoly component

[Le.. certain UNEs) used by a competitor in the provision

of its same or functionally equivalent service
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This imputation rule is equally applicable o the prices charged for 3

basic services and associaled UNEs Accordingly, it is appropnate lo

use the costs of UNEs 1o calculate tha costs of services

The relationship between UNEs and services was succinctly described
by Dr. Glenn Blackmon, Assistant Director-Telecommunications of the
Washington Utilities and Transportation Commission’

*[Tihe cbiective should be to estab'ish rough parity

between wholesale or unbundied ne* .ork element

rates and corresponding resale rates for finished

services. Finished services and wholesale

elemants are generally close substitutes for each

other, since the latter are niece pars of the

former. Pricing one below the other sends the

market incomect signals that distort the choices of

both consumers and competitors and it could

constitute undue discrimination. ®
(Testimony of Glenn Blackmon, Ph.D.,, WUTC Dockets Nos. UT-
960369, UT-960370, UT-960371, March 28, 1997, Order at 9)

YOUR SUPPORT ANALYSIS SHOWN ABCVE ASSUMES THAT
GTE'S CURRENT REVENUES REFLECT THE EFFICIENT COSTS
OF PROVIDING SERVICE TODAY. DO YOU HAVE ANY SUPPORT
FOR THIS ASSUMPTION?

Yes. An ILEC's current revenues properly reflect the total, actual costs

10
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an efficient provider in a compelitive market would incur today in
providing ubiquitous service. The history and purpose of regulation
confirm this point.

For much of this century, the Commission regulated GTE under rate-of-
return reguiation to ensure that GTE's rates are “fair, just, reasonable
and sufficient” and that GTE's services and equipmenl are *modern,
adequate, sufficient and efficient” (Fla. Stat., Section 364.03(1).) In
1985, the Legislature enacted a statute that provided for price
reguiation, w: ich is intended to promote even greater efficiencies and
to encourage ILECs to make the same economic decisions that would
be made in a fully competitive market. Indeed, the Florida Legislature
recognized this very point in Section 264.01(4)(i):

“(4) The Commission shall exercise its exclusive

jurisdiction to:

(i) Continue its historical role as a surrogate for
competition for monopoly services provided by local
exchange companies,” [emphasis added).

In & nutshell, the principal purpose of regulation is to be "a surrogate
for competition® to ensure that the firm eams no more than a
reascnable profit (Le., retumn) on its investment. |f the Commission has
fulfilled its statutory duties-—-and GTE believes it has—then GTE's
current revenues should reflect the tolal, actual costs an efficient

provider would incur in providing ubiquitous service today, including a

1"
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reasongble profil. Therefore, GTE's current revenues can be used t
halp calculate today's cost of supporting universal service

Finally, | will note that the FCC agrees with my analysis and with the
Florida Legisiature's finding that regulation is a “"surrogate for
competition.” In its Second Report and Order in the LEC Price Cap
proceedings (the "LEC Price Cap Order"), the FCC explained its
position on both rate-of-retum regulation and price-cap regulation. The
FCC opined that rate-of-return regulation may have “a tendency to
produce inefficiency,” but ultimately concluded tha: “rate of return
oversight is a responsible, functional method of correcting for these
tendencies.” (LEC Price Cap Order at para. 29.) Indeed, the FCC
noted that it had disallowed over $2.7 billion in LEC access charges
batween 1985 and 1990 using rate-of-return regulation. (Id atn.31.)

Because of alleged (although unsubstantiated) concern over goid-
plating, the FUC implemented a price-cap regime. Like the Florida
Legisiature, the FCC expressly acknowledged that the purpose of such
a regime is to replicate the benefits of a fully competitive market:

*By our action today, [rate-ofveturn) regulation will

be replaced for the largest of the LECs on January

1, 18891, with an incentive-based system of

regulation similar to the system we now use to

regulate ATAT. Incentive regulation will reward

companies that become more productive and

12
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8
efficient, while ensuring that productivity and 131

efficiency gains are shared with ratepayers

In designing an incentive-based system of
regulation for the largest LECs, our objective, as
with our price caps system for AT&T, is to harness
the profit-making incentives comimon fto all
businesses to produce a sel ¢! oulcomes that
advance the public interest goals of just,
reascnable, and nondiscriminatory rates, as well
@s a communication system that offers innovative,

high quality services.
We rely also on the ability of price cap regulation
to supplement and in affect replicate many of the
effects of competilion, to encourage price cap
LECs to make economic decisions such as they
would make in a fully competitive markel.”

Id. at paras. 1-2, 355 (emphasis added).

Given that the purpose of regulation is to replicate the effects of
competition, it is reasonable to assume that a regulated firm's current
revenues reflect the efficient, actual costs of providing ubiquitous
service loday, including the cost of attracting capital (i.g., a reasonable
profit).

13
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Q.  HAS GTE PRESENTED ANY OTHER EVIDENCE TO SUPPORT ITS

CLAIM THAT CURRENT REVENUES REFLECT THE CURRENT
ACTUAL COSTS OF PROVIDING SERVICES?

In sum, GTE's current revenues reflect the total, actual cost of
providing service loday, and these cosis are the costs an efficient
provider would incur in providing ubiquitous lelephone service
throughout GTE's service territory. Accordingly, we can identify today 3
costs of supporting universal service by calculating the implicit supports
generaled by selected services. GTE's Support Analysis discussed
above shows this calculation, and conservatively identifies implicit
supports of over $487 million per year for GTE. This $487 million is, in
essence, loday's implict universal service fund. As | discussed earlier,
the purpose of a cost model is to help establish an explicit fund that is
sufficient to preserve and maintain universal service. If a cost model
fails to produce a fund size commensurate with today's implicit fund, we

14
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must ask why, and, if necessary, we must adjust the results of the cost

model to accurately reflect loday’s universal service requirements.

ARE THERE ANY OTHER SOURCES OF IMPLICIT SUPPORT IN
ADDITION TO THOSE LISTED ON YOUR SUPPORT ANALYSIS?
Yes. For example, yellow pages advertising has been used by the
Commission to provide significant support for basic service customers
Although GTE currently operates under a price-cap form of regulation,
the foundation for the initial set of price-cap rales was based on a
revenueé stream that included “imputed” yellow page advertising
contributions as a source of support. That level of *imputed” implicit
support necessarily continues on in a price-cap environment.

This example of another source of universal service support
underscores my point that the $487 mil'on that | previously computed
is a conservative estimate of loday’'s implicit universal service fund.

THE PURPOSF OF THIS PROCEEDING IS TO EXAMINE THE
TOTAL COST OF PROVIDING BASIC LOCAL SERVICE USING A
COST PROXY MODEL. WHY ARE ACTUAL COSTS AND CURRENT
IMPLICIT UNIVERSAL SERVICE SUPPORT REQUIREMENTS
RELEVANT TO THIS PROCEEDING?

The Legislature directed the Commission to investigate and report on
the lotal forward-looking cost of providing basic local
telecommunications service in order *lo assist the Legislature in

15
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establishing a permanent universal service mechanism.”* (Section
364.025(4)(b).) GTE believes that the Legislature intended the
Commission (o examine the costs an efficient provider would incur
lodtay in providing service. This must be so, given that the Legislature
commissioned this study to assist it in establishing a permanent
universal service mechanism in 1999. Moreover, Florida law and the
federal Act demand that today’s level of universal sarvice be preserved
and mainlained, and therefore universal service support must be
caiculated with reference to the efficiently incurred costs of the
incumbent carrier. Given this analysis, the Commission can test the
adequacy of a forward-looking cost model by comparing its resuits to
today's costs of supporting universal sarvice, which are reflectad in
current rates.

HAVE ANY OTHER ENTITIES AGREED WITH WITH YOUR
ASSESSMENT THAT UNIVERSAL SERVICE FUNDING SIZING
MUST ACKNOWLEDGE THE ILEC'S ACTUAL COST
CHARACTERISTICS?

Yes, AT&T has made statements in another proceeding that appear to
acknowledge the use of actual costs in determining a univarsal service
fund size. In Seplember 1997, the Pennsylvania Public Ulility
Commission held a hearing on access charge reform. Al that hearing,
AT&T's Director of Law and Governmental Affairs testified that if an
ILEC's access charges are reduced, then the ILEC should be able to
recoup its lost revenueas through either a universal service fund or rate

16
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rebalancing:

*(Llet's assume we're nol in a siluation where

we've got any over-eamings. We're in a company

that's within the regulated base, then | am

supportive of revenue neutral changes for the

company which would mean one of a couple of

things. Either when you lower access, you at the

same lime receive funds from the universal

service which was the example we just talked

about or you could also lower access while doing

somre rate rebalancing in terms of raising

residential rates or some other rates within the

company. In other words, we [AT&T] agree that

access is an implict subsidy going lo support

residential local service. And, no, you shouldn’t

have that taken away and reduce access
Testimony of G, Blaine Darrah Ill, Director—Regulatory, AT&T Law and
Govemnment Affairs Division, Tr. 612-13, In ra Generic Investigation of
Inirastate Access Charge Reform, Docket No. 1-00960066 (Pa. Pub.
Util. Comm'n) (transcript of Sept. 11, 1897) [emphasis added]

AT&T's analysis necessarily acknowledges that an ILEC's regulated
revenues equal its efficiently incurred costs, and therefore when implicit
subsides are removed they must be recovered from a universal service

17
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mechanism in order lo preserve and maintain universal service.
Although AT&T's admissions in Pennsylvania involved rate-of-return
regulation, the principle remains the same: Regulation is a surrogate
for competition, and an ILEC's revenues equal the costs of an efficient
provider, regardiess of whether the ILEC is subject to rate-of-return

regulation or anv form of price regulation,

WHAT WOULD HAPPEN IF THE COMMISSION OR THE
LEGISLATURE IGNORES TODAY'S COST OF PRESERVING AND
MAINTAINING UNIVERSAL SERVICE?

If the Commission or the Legislature establishes a universal service
fund or mechanism based solely on the results of a long-run, forward-
looking cost model, and If this cost model fails to produce a fund size
necessary to replace today’s leveis of implicit support, then universal
service will be jeopardized. Moreover, as | discussed earlier, the usa
of such a model would violate both federal and state law, because it
would nol produce a fund size sufficient to preserve and maintain
universal service. Finally, insufficient universal service funding will
resull in significant stranded costs for ILECs, and such costs must be
recoverad from consumers.

. GTE'S POSITION ON SPECIFIC ISSUES
ISSUE #1: WHAT IS THE DEFINITION OF THE BASIC LOCAL
TELECOMMUNICATIONS SERVICE REFERRED TO IN SECTION
364,025(4)(b), FLORIDA STATUTES?

18
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Under Section 364.02(2) of the Florida Stalutes, “basic local

telecommunications service" comgprises:
*voice-grade, fiat-rate residential, and fial-rale
single-line business local exchange services
which provide dial tone, local usage necessary to
place unlimiled calls within a local exchange area,
dual tone mulli frequency dialing, and access to
the following: emergency services such as “811%,
all locally available interexchange companies,
direclory assistance operator services, relay
services, and an alphabetical directory listing. For
a local exchange telecommunications company,
such terin shall include any extended area service
routes, and extended calling service in existence
or ordered by the commission on or before July 1,
1885.°

ISSUE 2: FOR PURPOSES OF DETERMINING THE COST OF BASIC
LOCAL TELECOMMUNICATIONS SERVICE APPROPRIATE FOR
ESTABLISHING A PERMANENT UNIVERSAL SERVICE
MECHANISM, WHAT IS THE APPROPRIATE COST PROXY MODEL
TO DETERMINE THE TOTAL FORWARD-LOOKING COST OF
PROVIDING BASIC LOCAL TELECOMMUNICATIONS SERVICE
PURSUANT TO SECTION 364.025(4)(b), FLORIDA STATUTES?

First and foremost, GTE does not believe that a permanent universal

19
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service mechanism can be determined solely through the use of a
long-run, forward-looking cost model, and GTE does not believe the
Legislature intended such a result. For example, the Legislature
directed the Commission to report on “the reiationships among the
costs and charges associated with providing basic local service,
intrastate access, and other services provided by local exchange
telecommunications companies,” and this report is independent of any
report addressing the resulls of a cost proxy model for basic local
service. This report would be irrelevant if the Legislature intended to
establish a parmanent universal service fund based solely on forward-
looking cost models.

Second, as | discussed in Part |l of my testimony, GTE believes that
any explicit universal service fund or mechanism must be sufficient to
replace all of today's implicit subsidies, and the results of any cos!
model should be adjusted to accommodate this goal. Otherwise,
universal service will be jeopardized and the use of the cost model wi'l
violate federal and state law.

Third, GTE does not agree that a cost proxy model should be used to
determine the cost of providing services. GTE believes that company-
specific models and company-specific costs should be used, because
they more accurately reflect the costs of providing service in Fiorida.

With these limitations in mind, GTE believes that the BCPM is the more

20

1325




w N

o » A

@

10
"
12
13
14
15
16
17
18
19

21

23
24
25

reasonable proxy model, but that the BCPM should be populated with
company-specific inputs. These issues are addressed in the direct
testimony of GTE wilnesses David Tucek, James Vander Weide,
Michael Norris and Allen Sovereign.

WHAT IS THE TOTAL COST OF PROVIDING BASIC LOCAL
SERVICE IN GTE'S TERRITORY AS CALCULATED BY THE BCPM?
Using GTE-specific inputs, the total cost of providing basic local service
in GTE's territory on an annual basis equals $771 million. This total
cos! was calculated using a three-step process:

Eirst, the BCPM produced the costs of providing basic local service
(Le.. supported services) at a wire center level on a per-line basis for
each wire center within GTE's service territory. (Obviously, thasa costs
vary by wire center.) Second, the total cost of providing basic local
sarvica for all customers within a specific wire center was cniculated by
multiplying (i) the BCPM's cost per line by (i) the number of unes in that
wi.ra canter. Third. the total cos! of providing basic local service for all
of GTE's service terrilory was calculated by adding together the total
costs of each wire center.

BASED ON THESE RESULTS, WHAT UNIVERSAL SERVICE FUND
WOULD THE BCPM CREATE ASSUMING THAT TODAY'S RATES
FOR BASIC LOCAL SERVICE REMAINED THE SAME?

Under this assumption, thea BCPM would produce a total support

21
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requirement for GTE's service teritory of about $366 million per year.
The intrastate portion of this support would be $347 million,

HOW DID YOU CALCULATE THIS FUND?

As noted above, BCPM produces the cost of providing basic local
service on a per-line basis for each wire center within GTE's service
territory. The per-line cost for each wire center was compared 1o a
revenue estimate (or benchmark) based on GTE's currently tariffed
rates for basic local service. In those wire certers where cosis
axceedad the revenue benchmark, the difference was multiplied by the
number of lines in that wire center to arrive at the lotal support required
for that wire center. The sum of the sunports for each wire center
equals the total support amount ($368 million). My Exhibit MCS-2,
attached, is 1l 3 output of a BCPM-derived spreadsheet that contains
wmmmmmdmﬂﬁamizm
universal service funding sizing estimale

WHAT CONCLUSIONS CAN WE DRAW FROM THESE RESULTS?
As | stated earlier, GTE does not believe that a permanent universal
service mechanism can be determined solely through the use of a long-
run, forward-looking cost model. Rather, the fund size as calculated by
BCPM (or by any cost model) must be adjusted to reflect loday's

universal service suppori requiremaents.

The BCPM results prove my point. As noted in my Support Anaiysis,

22
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ISSUE 5{a): FOR PURPOSES OF DETERMINING THE COST OF
BASIC LOCAL TELECOMMUNICATIONS SERVICE APPROPRIATE
FOR ESTABLISHING A PERMANENT UNIVERSAL SERVICE
MECHANISM, FOR WHICH FLORIDA LOCAL EXCHANGE
COMPANIES MUST THE COST OF BASIC LOCAL
TELECOMMUNICATIONS SERVICE BE DETERMINED USING THE
COST PROXY MODEL IDENTIFIED IN ISSUE 27

The cost of providing basic local lelecommunications service should be
determined for each non-rural incumbent LEC in the State of Florida.
ILECs are currently the only camiers obligated to provide basic
universal service on a camier of last resort basis in a defined
geographic area, Moreover, ILECs have the networks in place today
to provide service lo all customers within their service territory, and it
is likely that the ILECs' network will continue to pe used lo provide
service. Thus, until ubiquitous facilities-basec competition develops,
universal service support should be determined based on the existing
ILEC's current, actual cost of providing service.

DOES THIS COMPLETE YOUR DIRECT TESTIMONY?

Yes. GTE has not addressed issues 6(a)-{c) in ils direct lestimony,
because these issues concemn LECs serving fewer than 100,000
access lines. GTE, however, reserves ils right to take a position on

these issues later in the proceeding.

24
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GTE FLORIDA INCORPORATED
REBUTTAL TESTIMONY OF MEADE C. SEAMAN
DOCKET NO. 980896-TP

PLEASE STATE YOUR NAME, BUSINESS ADDRESS AND
PCLITION.

My name is Meade C. Seaman. My business address is 600 Hidden
Ridge, Irving, Texas. | am employed as Assistant Vice President -
Marketing S~rvices. | am testifying in this proceeding on behalf of
GTE Florida Incorporated ("GTE").

DID YOU PRESENT DIRECT TESTIMONY IN THIS PROCEEDING?

Yeas.

WHAT IS THE PURPOSE OF YOUR REBUTTAL TESTIMONY?

My rebuttal testimony addresses several positions advocated by
parties in the direct testimony filed on August 3, 1988. Specifically, |
address policy issues raised by AT&T witness Richard Guepe and the
Florida Competitive Camriers Association ("FCCA’) witness Joseph
Gillan. | will leave to GTE witness Danner the rebuttal of Messrs
Gillan and Guepe on the economic issue of the treaiment of loop
costs. Generally, | explain why the proposals of AT&T and FCCA are
contrary to the public interest, fail to promote local competition, and
fail to comply with the Federal Telecommunications Ac: of 1996 (Act)
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Please note that throughout my testimony, | use the terms "support”
and “subsidies” interchangeably. A service is supported or subsidized
whan its regulated price is below the price that a firm could obtain in
a competitive marketplace absent regulation.

DO YOU AGREE WITH AT&T WITNESS GUEPE THAT THE
TELECOMMUNICATIONS ACT REQUIRES THAT UNIVERSAL
SERVICE SUBSIDIES BE MADE EXPLICIT AND THAT THEY
SHOULD CCVER ONLY THE FORWARD LOOKING ECONOMIC
COST OF THE SUPPORTED SERVICES?

| certainly agree that the Act requires that all implicit support in today's
rates must be made explicit. However, where government wants
telephone companies to offer service for less than il really costs to
provide, government needs to make up the difference--which is
precissly what universal service support is meant for. That's nol only
fair, it's necessary if Florida is to see compelition reach all customers
and services. Thus, as | stated in my direct testimony, | do not believe
that a permanent universal service mechanism can be determined
solely through the use of a hypothetical long-run forward-looking cost
model.

For a variety of reasons (including universal service concems), curment

retail and wholesale rates are out of whack, i.e., the relationship

between costs and prices is distorted by government in order lo keep

certain rates below cost. Congress recognized this mix-up of rates
2
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and directed, via the Act, that gaps between the price and cost of
supported services be identified and paid for-which is one part of
what is meant by saying that implicit support in rates be made explicit
The other part of making support explicit is taking the burden off the
prices that are now marked-up to pay for the subsidies, so those
prices can fall. Florida needs to untangle this web of subsidies (and
thereby let prices reflect what services actually cost, or have the gap
paid for by a universal support mechanism) both for retail and
wholesale p.ices in order to meet the intent of Congress and to
preserve universal service in & ~ompetitive environment. Thus, not
only should the relationship of cost to rates for supported services
(those priced low) be determined, but the cost/price relationship of
those services providing support (those priced high) must also be
analyzed and reduced if fair and ubiquitous competition is to develop
in the local exchange.

Notwithstanding all the work that has gone into them, forward-looking
economic cost models are just that-models. They're not the same as
the real-world costs of telephone service today, which are what
responsible decisions must be based on.

DO YOU AGREE WITH AT&T WITNESS GUEPE'S STATEMENT
THAT “THE SUPPORT FOR UNIVERSAL SERVICE SHOULD NOT
INCLUDE SUPPORT FOR ANY BUSINESS LINE SERVICE AND
SHOULD BE LIMITED ONLY TO THE FIRST RESIDENTIAL LINE"?

3
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A.  No. To the extent the Commission or the Florida Legislature des . es

business lines to be priced below their full cost, then this sen'ice
should be supported—it's that simple.

Indeed, both Florida law and the Act reflect this obvious point
Section 364.02(2) of the Florida Statutes defines “basic local
telecommunications service" lo include “voice-grade, flat-rate
residential, and flat-rate single-line business local exchange services.”
Section 364.025(4)(b) of the Florida Statues instructs the Commission
to report tc the Legislature, in order to assisl the Legislature in
eslablishing a permanent universal service mechanism, the cost of
providing "basic local telecommunication service." Thus, it is clear
that the Legislature intends for business single line service to be
included In the universal service support calculation

Furthermore, Section 254(b)(3) of the federal Act provides that
consumers in rural, insular, and high-cost areas should have access
to telecommunications and information services—including
interaxchange and advanced services—al prices thal are reasonably
comparable to those in urban areas. Congress, therefore, did not
exclude single-line business service from universal service support

SHOULD UNIVERSAL SERVICE SUPPORT BE LIMITED ONLY TO
FIRST OR "PRIMARY"™ RESIDENTIAL LINES, AS MR. GUEPE
PROPOSES?
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No. Here again, 1o the extent that public policy requires non-primary
residential lines to be priced below their full cost, then these lines also
mus! beé supported

Historically, gl residential lines have been supported, whether primary
or secondary. Today, for example, all residenual lines within a given
rate group are priced the same. Presumably. t*us practice reflects the
historical public policy objective of supporting all residential lines
Accordingly, if this objective is to be maintained, non-primary
residential F»es must continue 1o receive support. If this support does
not continue, it is likely that market disruptions would occur.

Also, it is very difficult to identify any particular line as primary within
a given location. Indeed, one must assume that all other lines to a
residence or location simply “"don't count” for universal service
purposes in tarms of giving someone basic access 1o the telephone
network. But ona does not know how many consumers live in a given
residence or location, or what their relationships may be.

In sum, the Commission should reject Mr. Guepe's proposal to
remove universal service support from certain residential lines
Attempting o do so may disrupt the marke!, could deprnve some
consumers of access to telecommunications services at affordable
rates; and could incent consumers to game the system by obtaining
another *primary” line from a second provider. Also, attempting o

5
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identify the primary line within a given residence would be an
administrative nightmare. Instead, the Commission and the
Legislature should focus on maintaining an affordable price for basic
service, make universal service support available 1o all single-party
residential lines and single-line business lines; and let consumers in
Florida decide how many lines and which telecommunications
providers best suit their needs

BOTH ATAT WITNESS GUEPE AND FCCA WITNESS GILLAN
SUGGEST THAT THE COST MODEL USED FOR UNIVERSAL
SERVICE SUPPORT DETERMINATION SHOULD BE CONSISTENT
WITH THAT USED FOR THE PRICING OF UNBUNDLED
NETWORK ELEMENTS (UNEs). 00 YOU AGREE WITH THEIR
CONCLUSIONS?

GTE believes that there must be reasonable relationships between
and among tha costs and prices for senvices and the costs and prices
for UNEs. And as | discussed in my direct lastimony, these costs
should reflect today’s actual costs of providing services and UNEs
i this is the principle espoused by ATAT and FCCA, then | agree with
them. However, GTE does not agree that USF costs and UNE costs
should be based on any cos! proxy model. Finally, if a cost proxy
model is used for USF purposes, that model should not supplant

company-specific UNE cost models

1335
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| will note tha! the Commission has already established what 1t
believes to be the forward-looking costs of UNEs for GTE. GTE does
not agree with the Commission's findings because they do not reflect
GTE's actual costs; nevertheless, these findings should provide a
"fioor" for the USF support determinations derived by any proxy model
in this proceeding.

MR. GUEPE AND MR. GILLAN ALSO APPEAR TO SUGGEST
THAT UNIVERSAL SERVICE SUPPORT SHOULD BE
DETERMINEL AT A STATEWIDE LEVEL. DO YOU AGREE WITH
THIS POSITION?

No. They appear to believe that universal service support should be
calculated by using a stalewide average rate for basic local
telecommunications service (assuming UNEs e set on a statewide
average). This "averaging” proposal, however, will not produce the
correct universal service fund size.

What they're saying is that if there's no problem, on average, then
there is no need for a solution. It's a little like the old statistics joke
about a person with his head in the oven and feet in the frozen lake
who is on average comfortable. But of course, the cost of telephone
service vanes quite a bit across Florida, and compelitors can choose
the profitable locations and customers and ignore the rest — as they
are now doing. “Fixing" the problem on average won't do very much
to relieve the pressure from competition o raise rural rates to their full
7
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cos! due to threats to the profitable services or customers that are
now providing the implicit support. Such a policy could even make the
problem worse.

The FCC and the Florida Legislature have also recognized this point.
The FCC stated that *[T]he cost study or model must deaverage
support calculations to the wire center serving areas level at least,
ad, if feasible to even smaller areas ...". [CC Docket no. 56-45, Par.
250(10)]. The Florida statute requires the Commission to report costs
“on a basis no greater than a wire center.” It is clear that a geographic
area no larger than a wire center is necessary to meet the
requirements uf the FCC and the intent of the Florda Legislature.

Perhaps recognizing the problem with his argument, Mr. Guepe
appears to attempt o draw a distinction between the determination of
“costs” and “support” by maintaining that if costs are determined at a
wire center or smaller level, then the results can be summed in order
to determine suppor at a statewide level. To support his position, he
references certain statements from the FCC's Order, but these
statements, in fact, contradict Mr. Guepe's claim: the FCC requires
that "any USF cost study or model..must deaverage support
calculations at least to the wire center level " (Emphasis added)

Notwithstending the clear requirements and intent of the FCC and the
Florida Legisiature, if the Commission were 1o determine universal
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service supporl al a statewide level, the opportunities for new
entrants, who utilize their own facilities to provide service, to “cream
skim” would ba significantly increased. For example, CLECs would be
able to receive universal service support based on a statewide
average determination, while targeting only high density, low cost
areas to serve. This would clearly not enhance incentives for local
exchange compelition in rural, less densely populated areas of the
siate.

Clearly, a universal service implementation issue is how USF amounts
will be shared among the ILEC and the CLEC when the CLEC
employs UNEs to provision a supported service. But this is an
implementation issue that should not affect the correct development
of the USF sizing procedures.

MR. GUEPE DISCUSSES THE USE OF A "REVENUE
BENCHMARK" TO CALCULATE A PERMANENT UNIVERSAL
SERVICE MECHANISM. DO YOU AGREE WITH THIS
BENCHMARK APPROACH?

No. The revenue benchmark approach—as used by Mr. Guepe and
others—would arificially understate the universal service fund by
allowing implicit subsides to remain in current rates

We can illustrate this point with a simple hypothetical example Listed
below are (a) the services whose curren! revenues are used in

]
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calculating the benchmark, (b) the current monthly revenues resulting
from thase services, (c) the monthly costs for each service, and (d)

the revenues that will be obtained in a competitive environment.

(a)

Bupported services
Accoss

Toll

Vertical senvices

Total

)

Current

Revenues
$10.00
§10.00

5500
$5.00

$20.00

(c) ()
Costs Future
Revenues
§28.00 $10.00
$1.00 $1.00
$1.00 $1.00
$1.00 $1.00
$31.00 $13.00

Under Mr. Guepe's revenue benchmerk approach, we subtract the

current revenues of $30 (column (b)) from the lotal costs of $31

(column (c)) to amive at a universal service requirement of $1. This

approach assumes, however, that today’s above cost services - toll,
access, and vertical services — will continue to generate the same

revenues. In other words, Mr. Guepe assumes that implicit supports

will remain.

Returning to the example above, the correct universal service
quﬂrtnﬂmbtmmhodhmm:ﬂm, simply subtract the
cost of supported services ($28.00) from the future revenues

10
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generated by these services ($10.00). This calculation produces
universal service requirement of $18.00. (This calculation assumes
that the just, reasonable and affordable price of supported services
remains the same, i.e., is $10.00). Second, one may subtract the
costs of all servicas ($31.00) from the revenues that will be generated
from the services in a compatitive environment ($13.00). This
caiculation yields, as it should, the same universal service requirement
of $18.00. This calculation is premised on the fact that implicit
subsidies are not sustainable in a compelitive environment, and that
pricas for non-supported services (e.g., toll, access, and vertical
services) will b driven to their economic costs.

Our above example is, of course, a hypothetical one and does not
reflect all implicit subsidies — it merely serves to illustrate the inherent
flaw in Mr. Guepe's revenue benchmark approach, which is simply a
means to keep implicit subsidies in ILEC rates and thus sustain the
cream-skimming opportunities described by the FCC in its Universal
Service Order. See, 8.0, Universal Service Order at para 17 ("In2
competitive market, a carmier that atiempts 10 charge rates significantly
above cosl to a class of customers will lose many of those customers
to a competitor. . . . New compelitors can targel service lo more
. profitable customers without having to build into their rates the types
of cross-subsidies tha! have been required of axisting camiers who

serve all customers.”).

1
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DO THE WITNESSES FOR AT&T PROPOSE REMOVING IMPLICIT
SUPPORT FROM SWITCHED ACCESS SERVICES AND
REPLACING IT WITH EXPLICIT SUPPORT FROM A UNIVERSAL
SERVICE FUND?
Yes. A common thema in AT&T s testimony is the removal of implicit
support in switched access charges concurrent with the
implementation of an explicit universal service fund. In February
1998, the North Carolina Utilities Commisrion held a hearing on
selecting a forward-looking cost methodology. Al that hearing, Mr.
Gillan testified 0./ behalf of AT&T that
the Commission should act immediately lo prescriptively
reduce these rates [switched access) to cost-based levels
concurrent with the introduction of an external, explicit
universal service mechanism.
(Transcript Vol 1, p. 60, Lines 10-12, Docket P-100, Sub 133b (North
Carolina Utilities Commission) “Establishment of Universa! Service
support Mechanism Pursuant to Section 254 of the 1996
Telecommunications Act®, transcript of February 3, 1998)

Furthermore, in my direct testimony, | reference a quote from Mr. G.
Blaine Darrah lIl, AT&T's Director of Law and Governmental Affairs,
in a Pennsylvania Public Utility Commission hearing in which Mr.
Darrah states that "access is an implicit subsidy going to support
residential local service. And no, you shouldn't have that taken away
and reduce access Iindependently” (Tr.612-13, In Generic

12
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Investigation of intrastate Access Charge Reform, Docket No. I-
00960066 (Pennsylvania Public Utilities Commission), transcript of
Sept 11, 1997).

Notice how ATET is attempting to game the system. ATA&T argues
that implicit support must be removed from switched access charges,
thereby lowering AT&T's cost of doing business. Indeed, in Mr
Guepe's calculation of his proposed revenue benchmark, he makes
an adjustment to reduce intrastate access revenuus in recognition of
the fact that these rates “should be recomputed to reflect the
implementation of cost based access charges.” But Mr. Guepe

e b o o | |
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1ol vedical services and vellow pages The question, of course, is
"why™? The answer is obvious — AT&T [gmoyes implicit subsidies

where doing 80 reduces its costs, but retains implicit subsides in other

services to preserve ils cream-skimming opportunitios.

In sum, AT&T and FCCA would have this Commission remove implicit
support in rates for services they purchase (e g, switched access),
but maintain implicit support in the rates for services for which they
intend to compete (e.g., business local, toll, etc.). This position fails
to pass any common sense tests, especially when swilched access
Is imputed as a minimum cost basis for determining toll rates. I
switched access rates are reduced, then the Commission must also
mandate that the implicit support contained in loll rates must also be

13
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eliminated on an equivalent basis, ATA&T's position is contradictory
and must be rejected.

YOU HAVE EXPLAINED GENERALLY THE PROBLEMS
ASSOCIATED WITH THE REVENUE BENCHMARK APPROACH.
ARE THESE PROBLEMS COMPOUNDED WHEN YOU DEVELOP
BENCHMARKS USING AVERAGE REVENUES?

Yes. Mr. Guepe, for example, uses gverage revenues (o calculate
universal service support requirements in Tables 1-3 of his direct
testimony. The use of average revenues exacerbates the cream-
skimming probiems | just discussed, and produces an insufficient
universal service fund.

Let's retum 1o our sarlier axampie, but this time lel's show the current
average revenues as being generated by two customers.

Service Customer #1 Customer #2 Avorage
Revenues
Supported services $10.00 §$10.00 $10.00
Toll, Verticals, eic. $0.00 $40.00 $20.00
Total $10.00 $50.00 $30.00

Notice what happens using the average revenue approach: The cost

of $31.00 (shown on page 14) less the gyerage revenue of $30 again

yields the same incorrect universal service support of $1.00.

Assuming the cost of providing supported services is $28.00 (see
14
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page 10) and that the revenues for non-supported services can only
cover their costs, then the total universal service support flows are
depicted as:

Service Customer #1 Cuslomaer #2 Average

Curren! Rales Current Rales

Supported Services Revenuss $10.00 $10,00 $10.00
Toll, Verticals, sic. Revenues $0.00 $40.00 $20.00

Total $10.00 350.00 $30.00
Costs $28.00 $34.00 $31.00
Impiisd Support § $18.00 ($16.00) $1.00

Customer #1 would be receiving $18.00 of support of which $16.00
would be derived from implicit support contained in the rates paid by
customer #2. But the future competitive marxet will not allow inter-
customner support flows (o continue. Fational competitive markets will
result in the rates shown below.

Service Customer #1 Cusiomer #2 Average

Market Rates Market Rates

Supported Services Revenues $10.00 $10.00 $10.00
Toll, Verticals, eic. Revenues $0.00 $6.00 $3.00

Total $10.00 $16.00 $13.00
Costs $28.00 $34.00 $31.00
implied Support § $18.00 $18.00 $10.00

24
25

From this we can discern the obvious fact that if the cost of a
supported sarvice is $28 and the revenues generated by that servica

15
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is $10, the universal service requirement will be $18 per supported
service.

This example illustrates that not only is the revenue benchmark
method flawed, the use of an gverage revenue benchmark
exacarbates the problem,

DO YOU AGREE WITH AT&T WITNESS GUEPE'S ASSERTION
THAT BOTH REVENUE SURPLUSES AND REVENUE
SHORTFALLS SHOULD BE SUMMED ACROSS WIRE CENTERS
TO DETERMINE THE APPROPRIATE AMOUNT OF SUPPORT?

No, this procedure is just another version of the “averaging” scam
Once again, the problem with Mr, Guepe's methodology is that implicit
subsidies would remain in rates in ways that would benefit AT&T, but
not the public. In this case, the assumption is that implicit support
contained in rates in low cost, high density areas, for example, can be
maintained and will not be subjact lo competitive pressures. If implicit
subsidies remain in rates, the requirements of the Acl will nol be met,
competition will eventually drive these rates to cost and the result will
be an undersized universal service fund — with comrespondingly
artificially inflated competitive opportunities for AT&T along the way to
target high-revenue customers. Once again, the right policy fits the
law — a properly sized, sufficlent and explicit universal service fund
can only be realized if all implicit subsidies are made explicil. Al the
end of the day, the explicit universal service fund should be no bigger

16
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or smaller than the implicit supports already contained in the ILECs’
relail rates.

DO YOU AGREE WITH AT&T WITNESS GUEPE'S CLAIM THAT A
FLORIDA UNIVERSAL SERVICE FUND IS NOT REQUIRED?

Absolutely nol. A simple example based on AT&T's own methodology
proves that the universal service fund in Florida cannot be zero.

The analysis in Exhibit No. MCS-3 lists (1) GTE's 1997 rates and
revenues in Florida for switched access services and (2) AT&T's
proposed rates (and resulling revenues) for these same services
using the output of the HAI Model 5.0a submitied o this Commission.

Even with the statutory reduction of 15% in intrastate access rales as
of Oclober 1, 1898, the conclusion stated in the Exhibit does not
change. This comparison illustrates that if AT&T's proposed access
rates were adopled, GTE's annual access revenues would be reduced
by $324 million (i.e., $351 - $27). This figure represents AT&T's own
estimate of the annual implicit support that exist today in GTE's
access charges. Following the logic established by Gillan in North
Carolina and Darrah in Pennsylvania, if intrastate swilched access
rates are reduced to the levels proposed by AT&T, $152 million in
implicit support is eliminated through rate reductions (see Exhibit
MCS-3), then it must be recovered explicitly through a universal
service fund, assuming GTE's retail rates remain constart. Therefore,

17
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Mr. Guepe's conclusion that a Florida universal service fund is not
required is erronecus.

CAN THE UNIVERSAL SERVICE FUND BE PROPERLY SIZED BY
ANALYZING A SELECT NUMBER OF SERVICES?

No. A properly sized, sufficient, and explicit universal service fund can
only be realized if the full scope of implicit subsidies are made explicit
Naturally, the testimony of AT&T narrowly focuses on the removal of
implicit subsidies in switched access services. However, Implicit
suppon exists in other services. My direct lestimony established that,
in addition to swilched access, intraLATA toll, business services and
vertical features also provide universal service support. GTE intends
to reduce rates for swilched access, intral ATA toll, business servicas
and vertical services as it receives explicit support from the universal
service fund, so that the benefits will fiow through directly o
customers. The faillure to recognize and make explicit gll implicit
support results in an undersized universal service fund and the
retention of implicit support in precisely those services which are likely
to be part of the bundie of services provided by CLECs - business
services, intraLATA toll and vertical features. As such, dollar for
dollar offsets solely from swilched sccess o an explicil universal
sarvice fund will not satisfy the Act's requirement= for a sufficient and
predictable fund.

18
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Yeas.
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BY MR. POWELL:
Q Mr. Seaman, have you prepared a summary of your
testimony?
A Yes, I have.
Q Please proceed.
A As you know, the Commission has been directed to

iosue a report to the legislature in February of 1999. The
uitimate purpose of that report 18 to deal with the
preservation, maintenance, and enhancement of universal
service. This proceeding deals with the cost of baeic local
telecommun.cations service, but I believe the Commission
should recognize a series of fundamental principles that are
necessary in evaluating costs and making a rational judgment
about the validity of those costs, and I would like to speak
to those briefly.

GTE witnesses will follow me to talk and deal

with the cost specific issues, and I would like to deal with

the fundamental guestions that have to be answered. And I
would suggest that there are four common sense queations
that you might ask as you listen to my teatimony today and
as you reflect on the testimony that you have heard earlier

and the testimony to follow.

And the first gquestion is why is the FCC, the
Joint Board, and state commismions all across the country

dealing with universal service ilssues today? As of the fall
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report on penetraticn, there is some 94 percent of

households, the 170 million households across the United
States that have telephone service, so one might think thac
universal service really isn't much of an issue. And I
would suggest to you that in the federal act of 19%6, that
Congress recognized that retail rates and access charges are
disoriented, and that in a pro-competitive environment that
we began embarking on in 1996, it would be necessary to make
implicit supports for univerasal service expliciiL. I think
that is a very clear issue, and there is a very long histery
of how those supports became implicit in the rates that we
have in the industry today.

The second common sense question I would ask is
why has Congress dictated that the states and the FCC make
explicit the supports that when you look at a family of
service concept one might think that they arce unwarranted?
And the answer to that question in my mind is that there are
implicit supporte that a family of service concept will only
work if you restate revenue streams on a going-forward basis
as you have incremental cost. I have done that in my
testimony, and I'm sure we will get to go over that.

The third common sense gquestion I would ask is
has this Commiesion already determined the cost of basic
local telecommunications service on a wholesale basis, and

can those coste be used tc size the universal service fund?
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And I would suggest to you that the answer, again, is yes.

In GTE's UNE proceeding, the Commission reviewed cost
studies and defined the cost of an unbundled network element
for loops, porte, and switching, local switching. The very
elements that go into building a basic local
telecommunications network and the services that underlie
them. So it's simply a mathematical matter of pricing those
coate out in relationship to GTE's service territory.

I have done that calculation, it's in my table in
my testimony. And what that identifies is a very huge
implicit support for universal service. Some 5487 million.
And I would like to point out that that is not a new source
of revenue to GTE. Those are rates that are in exiatence
today. There is nothing new in that number. It simply is
an implicit support contained in GTE's rates that in my view
must be mad: Licit by virtue of a congressional edict. It
is a rather shocking number, but nonetheless it is a real
number.

The fourth question that I would ask you to apply
is will maintaining the status quo in rates or arbitrarily
undersizing the universal fund requirement mandated by the
act be beneficial for consumers? And 1 would suggest to you
that the answer to that gquestion is also no. The implicit
supports for GTE are very large. They will and are today

targeted by new entrants when they enter the market. When
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they enter the market, they siphon off through cherry

picking those very supports that make universal service
poseible. By ignoring that and underestimating the size of
universal service support, the support that is already in
the rates today, simply make matters worse for the local
customers of tomorrow. That concludes my summary.

MR. POWELL: Madam Chair, Mr. Seaman is available
for crome examination.

CROSS EXAMINATION
BY MR. HATCH:

Q Good evening, Mr. Seaman. My name is Tracy
Hatch. I will be asking you a few guestions on behalf of
ATLT.

Do I understand your testimony correctly that you
would define the test for support as where your current
revenue exceeds the economic cost for any given service,
would that be a fair statement?

A No.

Q All right. How would you describe your test for
implicit support, then?

A On Page 6 of my testimony, I have a table. That
table identifies three things, the revenue that GTE receives
today for what I believe to be the five primary contributors
of support for universal service, local business, vertical

gervices, toll, intrastate access, and interastate access.
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The second column identifies what is labeled

economic costs and what that represents is the Florida
Public Service Commission ordered unbundled network element
rates priced out for loops, ports, and local usage. The
very elements that are part of basic service. By making a
comparison of those two numbers, I believe you end up with a
complete comparison of the ebbsm and flows of the universal
service support, which is the third column, and it's simply
a matter of substraction. And that is the 5487 million
dollars of support that I believe is necessary for Florida
for GTE territory.

Q So you- test for whether a local business
provides support would be whether local business revenue
exceeds your economic cost, is that correct?

A That's correct. In essence, what we are saying
is that the economic cost as defined by this Commission by
definition becomes the forward-looking price in a
competitive marketplace, and so you must reprice revenue
streams to be commensurate with that.

Q So if I look at the . ottom of Column C, and that
total of 5467,092,000, that is the number that you argue i@
the total amount of support by your terms, is that correct?

A That's correct.

Q Bo if I look at -- and the bottom of Column A,

that is the 771 million, that is the total revenues from the
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pervices listed, is that correct?

A Based on today's rate, that's correct.

Q So if I just do a little bit of arithmeric and
divide 487 million inte 771 million, would you accept
subject to check that that is approximately 63 percent?

A I'm sure you did the math right.

Q So am 1 to understand that 63 percent of the
revenues from the services listed in Column A are
essentially a subsidy to something, is that correct?

A As defined by the unbundled network elemenL
prices established in our UNE proceeding. Which by the way,
GTE disagrees with, but nonetheless those are the costs and
prices for unbundled network elements that this Commission
has determined.

Q One of the things that is confusing me, maybe you
can clear it up for me, is that through the course of your
testimony you refer to your actual cost of providing service
and you equate tliat to the revenues you currently generate
from that service. Do I understand that correctly?

A That's correct.

Q So you are eguating your cost of providing
service is the same thing as your revenues from providing
service?

A That's correct.

Q Turn to Page 10 of your direct testimony,
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starting at Line 25 and then carrying over to the top of
Page 11. And you state there an ILEC's curreat revenue
properly reflect the total actual costs an efficient
provider in a competitive market would incur tecday in
providing ubiquitous service. Do you see that statement?

A Yes, I do.

o} Am I to understand from that statement that you
consider GTE an efficient provider in a competitive market
today?

A Yes, " do. And let me explain why. There are
three elements to my rationale for cthat. One -- I'm going
to make a note so I don't forget. There are three elements
to that rationale. One is purely from the standpoint of
historical regulation. It is a c.ommon belief that rate of
return regulation has been in place for decades to take a
monopely provided service and make it act as if it were --
would act in a competitive environment.

That has been around for a very long time, and
everyone recognizes that there are probably some
imperfections in that, so price capa evolved. And what
price caps attenpted to do is to provide an incentive for
the incumbent LEC not to overbuild the plant. For most of
the 19808, a big part of the Bell companies have been under
some form of price cap. In the 19908, several of GTE firms

moved under the price cap scenario. The three biggest
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companies that GTE operates are the Florida company, the

Texas company, and the California company. That represents
roughly half of GTE's revenue stream.

And as I segue into the second issue, which is
personal experisnce, I have served on a number of executive
committees designed to loock at removing costs from the
business and taking and improving revenue streams.: Since
half of our revenue stream is under a price cap scenario, it
is inconceivable to me that GTE would not move aggressively
to remove cost, and over the last few years I think it has
done so.

But we have run into a little bit of a dilemma.
Tha last three years or so it has become increasingly more
difficult to take costs out of the business., In fact, I
don't think anybody can provide local ewitching or ocutside
plant facilities for the mass market any cheaper than GTE
can do.

Now, let's think about that issue for a second.
There are really two componente, major components of
investment., The firat is switching. A big piece of that is
the result of computer processing, and we 11 know that
computer prices have dropped substantially over the iast fev
years, But that ies not all of switching. There are
buildinys to house the switches, there are frames to hold

the wires that go intoc the switches, and there is labor
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related to those costs. All of those things have been

increasing rather than decreasing.

On the outside plant side, the predominant
portion of that cost is copper, which has been increasing in
cost over time, and labur-, also an increasliug coat
component. So from persconal experience, ! believe we are
pretty darned efficient, And the last issue has to deal
with my belief, and strictly my belief of congressional
intent. It is inconceivable to me that Congress would have
put in place a mechanism under the act that would reguire us
to reprice services and in essence perform a ratemaking
adjustment to our revenue stream without due process. They
asked -- the Congress directed that the unbundled network
element and interconnection negotiations occur, that it do
so without regard to a ratemaking proceeding, and iv's my
belief that what they intended was to look at revenue
streams and use that as a proxy under the notion that
regulation has worked pretty darn well coverall for coste for
the companies and that has been our basis for our position
across the unbundled network element proceedinas and that is
the basis for our position here today.

Q 8o, ie it your position that all of your current
coste are the most efficient corts that any carrier would

have if they entered the market today?

A Well, it's a matter of degree. 1 will answer
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that question in two ways. The answer is no, and I will

explain why. All firms can improve their efficiency levels.
I think it's pretty much a given that the FCC has been
looking at productivity gains across the industry for pretty
much 15 years, and they have plenty of empirical evidence
that suggests what that number should be. That number is a
possible efficiency gain for most firms, and it will go
forward into the future that there will be efficiency gains.
Number two is that for isolated customers it is
conceivable to me that a carrier could be very efficient in
going after an isolated customer, but what my position is is
that it says a ubiquitous network. And I don't believe
anybody can attack the market and build the network for the
two million plus customers that we have in the State of
Florida any more efficient in the aggregate than GTE does.
Q So you are saying on a total aggregate
company-wide basis to serve the total territory that GTE
currently serves your costs are as efficient as any other

providers going ‘nto that market to employ the aame service?

A Yea, 1 believe that.

Q Does GTE use GTD-5 awitches in its network?
A Yes, it does.

Q Do you happen to know a percentage of its

switches that are GTD-587

A As it relates -- well, I don't know, and I
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wouldn't know what that percentage would be on a Florida

basis or a national basis, but I do know that there have
been studies conducted that suggest that for rural markets
and for the services that typically customers buy, that
GTD-58 are very efficient, In fact, in many cases much more
afficient than any other -- much more efficient than other
switches that are out there for the service territories that
we provide service in.

Q Would you consider Tampa to be a rural area?

A No, but my understanding ie that Tampa is not

served by a GTD-5.

Q Would you consider St. Petersburg a rural area?

A No.

Q How much rural area is there in GTE's Florida
territory?

A I don't know.

Q Has GTE deployed any GTD-58 in the last five
years?

A In Florida?

0 In Florida.

A I don't know.

Q Would you consider a GTD-5 to be forward-looking
technology?

A If it is the least cost available switch, the

answer ia yes.




L=

10

11

12

13

14

15

16

17

ia

19

20

21

23

24

25

13161
more of a2 reason why I would believe GTE Florida is an

efficient company.

Q How much of -- let me start over. How many
competitors did GTE actually have in its serving territory
in Florida?

A I'm not sure I would have any way to know the
answer to that queation. I can answer it in terms of how
many companies have been certificated as a competitive local
exchange company. I know there is in excess of 170 in
Florida. 1I know you could lock at it in terms of how many
resale lines have been scld. I also believe that there is a
lot of facility overbuild in Tampa and St. Petersburg, and
it would be imporsible for me to predict or show what those
competitors are doing in that area. I have no way to know,
I just know they are there.

Q What percent of GTE's access lines are actually

being resold now?

A It's a small percentage. I don't know the
percent.

Q Less than 1 percent?

A I don't know the percentage.

Q Less than 957

A The same answer.

Q When you talk about facilities overbuild, what do

you mean?
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A Companies putting in fiber rings, loops to large

businesses, installing switches in the Tampa/St. Petersburg
area, thinge like that.

Q Do you have any way -- do you have any knowledge
of how many customers GTE has lest in ite serving territory
in Florida?

A Well, it's difficult to answer that gqueation,
because competitors don't routinely share that information
with you. I am responsible for the forecasting department.
The forecasting department in GTE keeps track of things like
total minutes of use for the mﬁrket, it keeps track of GTE's
share of those total minutes.

In Florida, GTE has lost 63 percent of intralATA
toll minutes of uee since intralATA presubscription., It's
difficult to map those minutes to individual customers. It
is very difficult to determine is there dial-around between
Tampa and St. Petersburg. I guess it's possible that
carriers are going in there and offering dial-around
programs between those two locations.

It becomes very, very difficult for GTE to
demonstrate competitive losma. All we can do is loock at the
revenue stream, and if you will look at Page 6 of my
testimony, you can look at toll there on Line 14 and aee
that there is only about $36 million in toll revenue for GTE

Florida. That number would be unheard cof ten years ago.
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That's competition. I would be real surprised if it wasn't.

Saying which customers in the State of Florida are leaving
GTE becomes problematic. The same thing occurs on the local
side. If you were asked how many local customers have left
the network, it would be very difficult to answer. All I
know is when they have a local loop they have access to all
of these other things that competitors are providing and,
therefore, we lose toll.

Q Mr. Seaman, isn't it true that ten years ago the
vast majority of GTE's intraLATA toll routes were converted
to ECS routes?

) I don't know the time frame, but the point is
that there is a significant amount of loss in these numbers
without regard to who the line is presubscribed to.

Q Well, if the toll route is converted to a GTE ECS
route, then GTE ien't losing toll, it's just converting
revenue to local, ien't that correct?

A If that were the only phenomenon that was
happening, that would be correct. I don't believe that's
correct. What is happening is competitors are -- excuse me.
Competitors are targeting where the subsidy is. If you loock
at GTE's average rates across the State of Florida, you are
going to see PBX rates in ridiculously high levels. I can't
remember the number. It'oc somewhere near 5100. We are now

selling unbundled network element loops. We are making that
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available to competitors at the $20 range. There ig a

significant amount of potential compresasion there.

We haven't sold any unbundled network element
loops. There is a reason for that, I believe. And I
believe it's because competitors are going to enter first by
overbuilding and targeting very large, very concentrated,
very high volume business customers. Once they eatablish a
bulkhsad, then it'e just going to be a matter of time before
they go further downstream. Today it's unlikely that AT&T
or MCI's support systems are ready to take large quantities
of pervice orders for resale or unbundled network elements.
It's probably unlikely that GTE's system is ready to do
that. But it's going to happen and it's geing to happen in
a big way once competitors launch.

Q Mr. Seaman, you said earlier that you were head
of forecasting for GTE, is that correct?

A I was the director of f[orecasting, and now I'm
the AVP, and that director reports to me.

Q pid you or any of your forecaating peraonnel
forecast any expense reductions cor efficiency gains in
putting forth your inputs to the BCPM to make them
forward-looking?

A You are going to have to ask Dave Tucek that
guestion, I'm not certain. Dave does work for me, but I

don't know the details at that level.
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Q Would you turn over to Page 21. I want to make

sure that -- I have a question there, I just want to make
sure that -- if you look at Line 9. Do you see on Line 9,
it's starting on Line 8, actually. It says that using
GTE-specific inputs, the total cost of providing basic local
service in GTE's territory on an annual basis equals 771
million, do you see that?

A Yes, I do.

Q Is that a correct number? It's not a trick

question, because we need to talk about this a little bict.

A I believe it is a correct number. If you will
refer to Page 1 of 13 in -- I guess I will call it MCS5-2R,
which is --

Q I'm sorry, could I get that reference again?

A MCS-2R, which 1 believe i~ Exhibit 34? 1Is that

what we called ic?

Q Okay, I've got it. Now, where was I supposed to
go in that exhibit?

A Page 1. These are the Hatfield inputs on
average. And if you will look over in about the third line
down, I will call it the center of the page, it Bays
adjusted total monthly cost, $33.01. And down about middle
of the page on the left-hand side of the column, there is an
eligible lines number, 1,800,000-plus. That 746 million is

simply multiplying the one point -- I will round it -- 9
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million eligible lines times $33.01, times twelve.

Q So that 5$771 million number on Page 21, Line 3,
is not the pame §771 million number that i1s on Page &, Line
177

A The §771 million number on Page 6 is not the 5746

million number on Page 21, is that right?

Q Okay. There is a --
A That's correct.
Q My copy of your teatimony shows the number on

Line 9 as $771 million.

A 1 believe you are locking at the original
testimony and tha* hae been revised. 1In the original
testimony the two numbers were the same and it was a
coincidence.

Q Okay. 1 believe in your rebut:tal testimony you
have stated that you use the terms support and subsidy
interchangeably, is that correct?

A That's correct.

Q Do you have a copy of GTE's responses to ATLT's
fifth set of interrcgatories, Number 747

A I will check.

] I've got sBome extra copies of the page., [ was
trying to aveid a new exhibit, but --

A I think I have found it.

Q Okay. HNow, 1 just want to make sure, becaume I
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had inguired of counsel, but I want to confirm that this is

not a confidential piece of information from your response,
ies that correct?

A Are you referring to a specific page of the Bates
stamped document?

Q Yes. The page number would be Bates stamped
Number 00029197

A I have it, and it's not marked confidential. And
I would be okay with talking about ict.

Q Okay. That will make all of ocur lives
unmeasurably easier. Now, could you also refer to -- I'm
going to talk about two different things simultaneously.

One is the Page 2919, the other is on Pace 6 of your direct
testimony and the chart that you have there.

A Okay .

Q Now, from the chart that is in your testimony on
Page 6, the one major clase of revenues that is missing
would be the residential revanues, would that be correct?
Everything else would cover virtually the entire company?

A That's correct, I didn't show it. There are many
other categories of revenue that you can look on ARMIS and
find, if you would like, but I did not show local revenue,

that's correct.
Q And if you look on 2919, that interrogatory

response, it does list at the very top in Table 1 your local




10

11

12

13

14

15

16

17

18

15

22

23

24

25

1368
revenue, is that correct, for 1997, Column A?

A That'a correct.
Q And that would be your 236,372,000 plus
65,204,000 in end user common line charges, and that would

constitute your total residence local revenue, would that be

correct?
A That's correct.
Q And according to that same chart in Column B,

your direct cost for local residence is 5527,429,000, would
that be fair?

A That'a fair, but I gueas I would like to point
out Page 2919 of the Bates data request is not the
information on which I relied to illustrate the implicit
supports contained on Page 6 of my direct testimony. These
cost studies were based on the ICM 3,0 version of the cost
model that was filed in the fair and reasonableness docket.
And we did not use those numbera in my direct testimony
because the Floriaa Legislature directed .s to use proxy
models and we don't consider ICM to be a proxy model. 5o 1
will be happy to answer any questions 1 can about the
schedule, but if you are trying to get to the basie for Page
6, you need to go back a couple of pages and look at 2922.

Q Do you have 2922 handy?

A Yea, I do.

Q It doesn't appear that there is -- okay. There
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doesn't appear to be much difference between 2919 and 2922

in terms of just the numbers in Columns A and B. Let me ask
it this way. With respect to your chart on Page 6, in Yyour
column labeled economic costs, in each instance your
economic costs am stated there are higher than what you have
calculated as your direct costs on 2919, is that correct?

A I'm looking at the two schedules. Could you
repeat the gquestion, please?

Q T probably don't even need to go there. Let's do
it another way. I'm sorry to confuse everybody. We can
stick to 2922, it's probahly just as easy. Your economic

coet of residential local service is 526,683,000, is that

correct?
A Yen.
Q So if I were to do the math, and subtract your

local service revenues from your local service costs, I
would come up with a shortfall of $5225,107,000. Does that

seem fairly correct to you?

A It'sa on the table, yes. That is the right
number.
Q Now, earlier you said that vour total support or

your total subsidies implicit in your revenues for those
services on Page 6 is 5487 million, is that correct?

A That's correct.

Q How, the amount of revenue you need to break even
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on your local residence service is only 225 million

approximately, is that correct?

A 1 would have to say no, because I'm not sure I
understand what break even meana. If I were to look at
Table 2A on Page 2922, what I walk away from that is that
revenue in comparioon to what the Commission has defined as
my economic cost in the unbundled network element proceeding
is substantially different, and what yru have to do is put
the signs together here on this chert.

In other words, you will notice that the local
revenue is negative and the other items are positive, and so
to lock at the total subsidy flow in all of these services
you would have to add -- in other words, you would have to
add the 225 million with the 261 million, and that produces
the 487 million. Said another way, if the Commission
ordered UNE prices are correct, then that establishes the
economic forward-looking floor for the prices that will
prevail in the marketplace in the future. So you have to
recast the revenue atream consistent with-those defined
costa. And when you do that you identify a subsidy support
of nearly half a billion dollars.

Q Okay. Let me ask you this question. based on
your test as you described it to me earlier, where if the
revenue from the service is egual to or exceeds -- well, if

the revenue from your service exceeds its economic colt,
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then there is an implicit subsidy, is that correct?

A I think I answered no to that question the last
time. What I said you had to do is lock at the ebbs and
flows of where the support comes from and where it is going
to.

Q Go to Page 5 of your direct testimony, please.
And your test for universal service support is that current
revenues generated by services are now priced above their
economic cost, and you compare that with the revenues that
would be generated if the prices were equal to their
economic cost. Do you see that test?

A Right.

Q So ii the revenue from a service exceede ite
economic cost, as you have defined it, then that service ia
providing an implicit subsidy somewhere to something, is
that correct?

A Repeat the guestion.

Q I1f the revenue from a service exceeds its
economic cost, as you have defined it, and based on your
test, it is providing an implicit subsidy to something?

A That's correct, but that's only part of the
equation. There are other services that are priced below
their economic coat, and that also ie part of the ebb and
flow of the subsidy. So you have to add the two together

when one sign is negative and the other positive,

il
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Q What service other than residential as you have

put it cn your chart on Page 6, is below its economic cost?

A 1 guess I don't understand the question. The
elements that we have looked at here on Page 6 exclude local
residence. That item is picked up on 2922 of the chart and
the sign is different, so you have to add them. The total
subeidy requirement in my view is $487 million. You can't
net them because the signs are different.

Q Okay. Let's do it thie way. Your local business
revenue exceeds its economic cost, ie that correct? Still
referring to the thart on Page 6.

A That's correct, by $88 million.

Q And that 588 million is lebeled under Column C an
implicit support, a subsidy in your terma, is that correct?

A That's correct.

Q So take vertical mervices, it produces an

implicit subeidy of $68 million, is that correct?

A Yesn, that's correct.

Q Now, for residential service, it does not
generate any ' ,licit support, does it, based on your
numbera?

A That's correct.

Q And it is short from generating any positive

implicit support by $225 million, is that correct?

A That's correct.
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Q Assume for the moment that you had $225 million,

there is a USF fund created of 5225 million. That amount
would bring your local revenues up to its economic cost, is
that correct?

A Yen.

Q Now, at that point you have a total subsidy,
implicit subsidy of 5487 million?

A That's correct.

Q And if you take $487 million and you subtract
$225 million, you get --

A 261.985,

0 8262 million approximately in implicit supporr,
subsidies still flowing from your existing rates and
revenues, is that correct?

A An additional implicit support besides the 225
that you said we already took care of,

o] What else is being supported if all of your
services are now covering their economic cost?

A The firm's total cost.

Q So the firm's total costs are being subasidized by
the firm's total services, is that sort of the idea?

A Mo, that is not the right idea. What we are
really saying is that total economic cost is going to fall
short of actual cost, It always will. The firm has an

actual cost and it has to reach -- it has to have rates that
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will allow it to recover its actual cost.

All firms do this, not just GTE. All competitor
firms do this. Economic coet -- and that's part of the
problem, by the way, and that's why the testimony says you
can't rely strictly on economic cost when you look at these
issues. What you have to do is look at economic cost for
what it is. It's an estimate of forward-looking cost, and
you can't price services all there because you won't recover
the firm's total actual cost. You never will. No firm
will,

All firmas mark up above that level based on
market conditions. It's a fact of life, The TELRIC studies
produce a utopis level of cost that no firm will ever
achieve in the aggregate. You build a network based on a
perfect knowledge of demand, you build it all at once. You
know today, for example, all the r-~ads that are being torn
up on Capital Avenue, you know in advance. So you don't
have to come in and supplement loops, you don't have to come
in and add new switches downstream,

You know the total volume of the switches that
you have to put in place today sc you can get huge discounts
from the vendor, but that is not reality. Incremental cost
studies and economic cost studies are used for directional

purposes only. When you go beyond that and wset prices

there, then you've got a problem. That problem is the

il
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firm's total conat will not be recovered.

Now, just as another example of a common sense
test that I would ask you to think about, and I will use
Florida. In 1971, I visited Disney World. At that point
there was one theme park, the Magic Kingdom. There was only
one completed hotel, the Contemporary. 27 years later there
are almost a dozen theme parks in Disney World.

They now call it Disney Village. You've got
Epcot, Pleasure Island, Animal Kingdom, Universal Studios,
River Country, Typhoon Lagoon, with a whole maze of major
roads and majcr hotele all asitting on that facility ail
owned by Disney World.

Now, we are going to come in in 1998 and we are
going to do a forward-looking cost study of building that.
Well, it's not reality. It's directional, it's an
indicator, but you can't use it as an absolute basis to set
prices. BSo {f we were to assume that we were going to
rebuild Disney World today with all of those theme parks
known and measurable today with a perfect knowledge of
demand about all the millions of customers that are going to
come in and visit that theme park, then what would happen?
You would build infrastructure in terms of roads, and you
would get huge discounts on concrete, and you would get huge
discounts on rebar to go in the concrete, and you would get

huge discounts on the earth moving equipment that comes in
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and tears the ground up and puts the roads in. You would

get enormous discounts on concrete and aggregate, all of the
components that go into building the Disney World theme
park.

But the fact is it's a utopia level, and you
need to understand what place it serves in the grand acheme
of things. You can't lose sight of the forest for the
treee, The fact is the company has actual costs, they are
large, they are continuing to grow. We have put a billion
dollars of plant in the ground in the last two years, and
Hatfield simply will not produce revenues to cover those
costes. It isn't going to happen.

o, when you come back to pricing services, we
have made a decision here in Florida about unbundled network
element prices based on economic costs. When that decigion
is made, you now have identified the size of the universal
service support that is implicit in the rates today. IL's
really that simple in my mind.

And so does the number look ridiculous? I
suggest that it does. Part of the reason why it looks
ridiculous is because of the way we have chosen to price
gervices, i.e., the unbundled network element loops. So you
have to take thinga in their place and evaluate them with
some kind of common eense test. It doesn't make common

sense to me that Hatfield would come in and suggest we could
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rebuild the entire network for 50 cents on the dollar, or

pick any other number that you could put in here. It just
doean't make common sense to me. So you have to ground all
of that in some reality. GTE's reality is the revenue
stream that it produced. We attempted to offer evidence
that that was a reasonable approach. It was stricken a few
minutes ago. That's my answer.

Q Let me make sure I understand this. If we give
you -- if the industry, the telecommunications industry
gives GTE $225 million, and that would essentially cover the
economic cost of providing residential service, is that
correct?

A Yes, and then there is a bunch of uneconomic
support that flows through these other services; business,
vertical, toll, switched access for both state and
interstate. For example, we have nearly a 7 cent access per
minute of use charge in the State of Florida. The economic
interconnection cost is somewhere in the neighborhood of
half a penny.

AT&T would suggest just simply ignore that real
cost and take access prices way down. What they are really
saying is give me, AT&T, $300 million, you can add the
numbers here, 145 and 155, give me $300 millien, I will take
it to my stockholder and, oh, by the way, Commigeion, you

don't have to worry about universal service in GUE's service
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deposit it. Clearly there would be a shift then in the way

you have provided those services, and they would be lowered
to -- you are telling me teo cost, which then brings another
iseue which counsel brought up earlier, which then how could
we expect competition if we give you $487 million, you are
saying to me you are going to bring all of these implicit
supports down, which is, in essence, I guess the mark up,
right, and then you provide them at cost,

So then I can really not expect competition in
Florida forever because you basically have -- AT4T is giving
you money to stay in business and what are you geing to do
-- or what you are telling me you are going to do, 1
guarantee some of it will end up in at a benk, is you are
going to basically bring it all to your economic cost, is
that what you are saying?

WITNESS SEAMAN: Essentially, yes. And there are
a couple of thinga I wonld like to address an the
underpinning of your gquestion. Back in the interconnection
days, we argued that it is critically important that UNEs be
rstablished with some regard for where the network is in
reality.

In other words, what we paid is that there has Lo
be -- I guess I tend to think of myself as a math person.
There has to be a mathematice formula that is applied to the

whole principle of pricing. You take retail rates, you
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unbundled network elements should add back up to that. If
there is a difference, it's because of either implicit
supports that need to be taken care of explicitly, or the
potential for stranded cost. I don't want to go to the
stranded cost issue.
BY #R. HATCH:

Q Now, if what you are saying i@ --

COMMISSIONER GARCIA: Thank God, because that
would mean more than 487 million

WITNESS SEAMAN: What I almost hear you saying is
that this $261 million is the carrot for competitive entry,
and I would suggest that if your UNE costs are correct under
the pricing that you have given to GTE, then it'se an
uneconomic carrot. You only want entry if it is economic.
it doean't help consumers to have entry because of implicit
subsidies. I think Congress recognized that.

COMMISSIONER GARCIA: I agree, but what you are
saying -- and I tend to think of myself unfortunately for
all of us, as a peolitician, so math is not one of the things
that enter there. So we are going to go back to this, and
you are going to work this through for me just so that I
understand, because Mr. Hatch was doing a good job of it, I

guess, for the record, Now we will even pimplify it for a

nonmath person.
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Your total here in revenue is 771 million, and

let me tell you something, I'm inspired by the simplicity of
this chart. 1It's good for me to look at it this simply and
not wade through the other stuff. But at least I guess
that's what makes it easier also for Mr. Hatch toc bring it
out for us. You are telling me your total revenues were 771
million. You assessed that part of the subsidy that you
collect in one shape, way, or form is 487 million. 6o if I
were to give you this, it puts you somewbire at 1.1 billion
or 1.2 billion in revenues, if I were to give you this.

And then you turn around and say to Mr. Harch,
and that's wher -- and perhaps I just missed it and Mr.
Hatch is using my ignorance to get us there. So economic
cost is built in, sc you take the 487 million and you msay
that if you got that what you would do is just lower all of
these implicit supports. So basically then I would find
that you would be providing these servicas for, what, their
economic coste?

WITNESS SEAMAN: These five serviceas, that's
correct. That isn't all the services that GTE has.

COMMISSIONER GARCIA: Okay. So then you would be
providing it at 284 million, basically, which is your cost,
your cost of providing all of these servicen?

WITNESS SEAMAN: My cost as defined by you. It's

the UNE costs.
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these uervices at cost, I'm paying you to provide them at

cost. How does that move the ball forward?

WITNESS SEAMAN: In a very dynamic way, in my
opinion,

COMMISSIONER GARCIA: Okay.

WITNESS SEAMAN: Let me try -- there is a whole
lot of questions in your question. I would like to take
them in pieces.

COMMISSIONER GARCIA: Any way vou want, just get
me there.

WITNESS SEAMAN: Do you have the document that
has the -- I forgot now what it's called. Page 2914 of
the --

COMMISSIONER DEASON: Mr. Hatch, has that been
identified as an exhibit?

WITNESS SEAMAN: -- of the discovery request.

MR. HATCH: Commissicner Deason, | believe it was
in Staff's original package, but I do not know whether it
has been distributed.

WITNESS SEAMAN: Well, I will just speak to it.

COMMISSIONER GARCIA: Me. Caswell is ahead of
you. Thie is forward-locking.

WITNESES SEAMAN: 2914.

COMMISSIONER GARCIA: Do we have this, Staff?

ME. CASWELL: Yesm, it's part of Staff's exhibit.
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CHAIRMAN JOHNSOM: Which one is it in, Mr. Cox?

COMMISSIONER JACOBS: We don't have it yet.

CHAIRMAN JOHNSON: Oh, we don't have it yet?

COMMISSIONER GARCIA: All right. I'm looking at
2914,

MR. HATCH: I believe there is a proprietary
stamp on it. I would only caution you because there is a
problemn with this.

COMMISSIONER GARCIA: All right. Well, go ahead
and work with the numbers.

MR. POWELL: It's Exhibit 35 according to my
lisc, Madam Chair. I believe it'as Exhibit 35.

MR. COX: It is Exhibit 35. I believe it's Page
161 of Exhibit 235.

CHAIRMAN JOHNSON: It's one of the stipulationa?

COMMISSION STAFF: Yes.

CHAIRMAN TOHMSON: Thank you.

COMMISSIONER GARCIA: I'm sorry for interrupting
your line, Mr. Hatch. It's just I just want to get an
understanding of thie. And I appreciate the witness'
directness in this because it makes it a little bit easier
for me. All right, we are at Page 2914, right?

WITNESS SEAMAN: Right, If you would refer to
the very last line, the third column, it says total

regulated. There is $1.4 billion of revenue there. What we
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are really saying is --

COMMISSIONER GARCIA: Hang on. The last line,
total regulated?

WITNESS SEAMAN: Right.

COMMISSIONER GARCIA: And you want me to go to
the last line?

WITNESS SEAMAN: The third column, it says 1997
revenue.

COMMISSIONER GARCIA: 1Is 1.4 billion?

WITNESS SEAMAN: Right. That's the number that
GTE achieved in 1997, and after you make implicit supporte
explicit to the tune of roughly half a billion dollars that
would still be the number. And all we are doing ie
redistributing the categories. And Ly the way, we are not
really changing local service rate, it depends on how the
fund is funded. And that is a whole another queation.

COMMISSIUNER GARCIA: That is a whole another
discussion.

WITNESS SEARMAN: Right. But the revenue stream
would stay the same. There is no new revenue here. We are
not asking for an additional half a billion dollars. The
way that that would --

COMMISSIONER GARCIA: Aren't you?

WITNESS SEAMAN: No.

COMMISSIONER GARCIA: Where --
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WITHESS SEAMAN: We would take --

COMMISSIONER GARCIA: We would take it from
there, but you said -- and that's what troubled me. You
said these are all the implicit supports, we bring them down
to zero. Now, I don't know why we would want to bring some
of these down to zero, but nonetheless you say we bring them
down to zero, because I don't think we have ever been
charged to loock at that concept.

But let's say that we fol'lowed your advice and
told the legislature here is the plan, we are going to give
GTE half a billion dollars and for that half a billien
dollars what we think we are going toc get is a rebalancing
of rates. And obviously that is going to come from
somewhere, 8o we would rebalance rates. And what we would
do is in some shape, way, or form or another we would
increase rates so that these implicit subsidies would be
absorbed by the ratepayer in some form. And thereby
lowering all these areas of implicit support to zero. In
espence, you would be providing them at your economic cost.
So what we do is we take the half a billion that you have in
the third column in your testimony and we put it in the
first column, right?

WITNESS SEAMAN: I'm sorry, I was thinking about
what I was going to say next. The half a billion --

COMMISSIONER GARCIA: Would go into the first
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column, it's revenue now.

WITNESS SEAMAN: No, there would be an offset ior
that. There would be reductions to go along with that.

COMMISSIONER GARCIA: Right, I'm agreeing with
you. You're taking . he third column and that goes to zero?

WITNESS SEAMAN: Right. And then there would be
reductions in business rates, vertical service rates, access
rates,

COMMISSIONER GARCIA: Right, which are the issues
you said you would bring those all to zero?

WITHNESS BEAMAN: Not te a zero rate.

COMMISSIONER GARCIA: No, no, you would bring the
implicit support, you would bring them back to their
economic cosat.

WITNESS SEAMAN: Right.

COMMISSIONER JACOBS: Wouldn't there be alsc an
increase in the local because you are going to bring that to
cost, too?

WITNESS SEAMAN: It depends on how the fund was
supported. If it were, for example, supported on all retail
revenue of all carriers in the state there would be an
increase. I expect it wouldn't be neceasarily
dollar-for-dollar. For GTE, for example, if you were to
broaden the base of who contributes to the fund, then that

would be a way of lowering the impact on GTE customera. But
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in terms of the competitive benefit, what you would see is a

dramatic reduction in usage based rates, a dramatic
reduction. Toll would come way down; incredibly far down.
And I think you would see other carriers --

COMMISSIONER GARCIA: You mean it would come down
to what? It would come down to -- fine, at least in the
toll issues it would be AT&T's dream. Obviously you are
going to stick them for the money somewhere else. But it
would be for intrastate rates -- according to thise, just
looking at these numbers, you would bring intrastate rates
down to a tenth of what they are now?

WITNESS BEAMAN: Right.

COMMISSIONER GARCIA: Which is, again, something
that I think some c¢® the carriers here would want and you
would briig interstate rates down to about a seventh, and
that's my poor math, but a fifth or a eixth of what it is
presently?

WITNESS SEAMAM: Right. But let's focus on the
competitive benefits. What you would then have is
competitors entering on economic decisions rather than
chasing subsidy support. And the universal service support
followa the competitor. If a new entrant came in and served
an area that gets the support, they would receive it. That
would provide them an incentive to go in and chase, for

example, residential customers which they claim they don't
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have the incentive to chase today.

8o it would open a whole new world of competitive
entry, in my view, because anybody that would provide the
service to those customers that get support or provide the
support it would follow them. So there would be a huge
incentive for competitors not to just target downtown Tampa,
for example, they would be targeting everywhere. And over
time what you would see is rates would move to those levels
that --

COMMISSIONER GARCIA: Wouldn't that have an
incentive, though -- let‘s say I was Mr. Hatch's company.
Wouldn't my incentive be, listen, forget about providing
local service, these guys just did a rate reduction that is
massive, they are not taking from this pot anymore, so I'm
just going to go for my long distance customer because, you
know, now I've got a good margin there that I can work with
and I'm going to go for the long distance. 1I1'm going to
stay in my business, which is what I specialize in, not
local service, but long distance, because in the end the
basic customer, the rates that you would create by this are
at about cost, so why go for them when my businesa, my core
business is now available at better rates?

WITNESS SEAMAN: I think what it would do is
force large local providers to provide a full spectrum of

pervices because --
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COMMISSIONER GARCIA: Because of the hit that

they are taking to the universal service, it's better to get
into the business than stay out?

WITNESS SEAMAN: Right. I mean, what they would
have to do is in order to survive they would have to provide
regidential local service, because they are going to get
revenue there. And rather than chasing -- in the charts
example what they are chasing is the $300 million that is in
access., What they are chasing is the $150 million which is
in business and vertical services. They are not chasing
residential customers today. That's why you o t see
resale. That's why you won't see it in rural areas, as
well .

And sc when you retool these revenue streams and
the economic incentives for entry change, then you are goirg
to see competitors, they will be forced to go into all of
these service categories and provide service. The
alternative is that we stay where we are and they only
target the --

COMMISSIONER GARCIA: So under your scenario,
because the cost of not doing business would be greater than

the cost of doing business, they would be forced to compete?

WITNESS SEAMAN: You wouldn't have a choice but
to have a full spectrum of services to a whole variety of

residential and business customers. It would cpen
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competition in enormous ways to the State of Florida. And,

in fact, if you look at some of the economic literature that
has been ocut there, and 1 believe part of the foundation for
Congress in deciding to do what they have done under the act
is to completely retool the way we think about our business
today. And doing something dramatic like this would have
profound effect on entry.

COMMISSIONER GARCIA: 1 agree that it would have
a profound impact. But by doing this, and let me understand
because I think now I'm understanding -- or at least I'm
following what you are saying, is that what you would do is
shift that to a universal fee of some mort. This money
would come from some mechaniem, this half a billion dollars,
paid for by everybody, I guess. The ratepayers as well as
the competitors. You would take out all cf the implicit
supports, and sc by doing that it sort of forces all the
players to get into the business or they are out completely?

WITNESS SEAMAN: Right, exactly.

COMMISSIONER GARCIA: It's too expensive not Lo
be in the business.

WITNESS SEAMAN: You have to do it all. You
can't just -- there won't be the margin just in toll to
chase only the toll customer. There won't the margin just
to =-

COMMISSIONER GARCIA: It's either you compelte Or
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you go bankrupt, more or less?

WITNESS SEAMAN: Yes. And that would be true of
GTE, as well. Because when you create a large fund, that is
going to put competition squarely at our door, because that
fund is going to be available to anybody that chooses to use
ic.,

COMMISSIONER JACOBS: Isn't that fund really
paying the rent for the local loop?

WITNESS SEAMAN: I'm sorry?

COMMISSIONER JACOBS: Isn't that fund really
paying everybody's rent for the local loop?

WITNESS SEAMAN: Well, I guess I'm not really
sure how to answer that guestion other than to suggest that
the alternative is much worse. The alternative, I think the
underpinning of what you are thinking about is that you
leave rates where they are and over a period of the next
years, this half a billion dollars goes away because
competitors will take it, and then GTE knocks on your door
and says, I've got a total cost problem.

And the only way I can recover that, since I've
lost all of my access minutes, I've lost all of my toll
minutes, I've lost all of my vertical service customers, and
my local business customers now subscribe to competitive
local exchange carriers, the only thing I have left is

residence. Well, the local loop cost deesn't change
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dramatically unless we have overbuild to the local

subscriber. And you are simply not going to get overbuild
to the local residential customer with rates like this. You
won't, it will not happen. It will to customers, it will to
concentrated customers, but you are not going to ses
competitors building to residential customers. It just
isn't going to happen. .

So the alternative is much, much worse than what
I'm talking about, which is to take the support that is in
the rates today for the local loop, yes, the thing that has
made universal service possible, that's right, and make
those supports explicit as Congress has required us to do,
and reprice the services. And when you do that you are
going to see dramatic changes in the industry. It's just
going to happen.

COMMISSIONER GARCIA: I'm sorry, Mr. Hatch.

MR. HATCH: I didn't intend for it to drag on
this long. I have no further guestions.

CHAIRMAN JOHNSON: Go ahead.

CROSE EXAMINATION
BY MR. HENRY:
Q To implement the program that you and

Commissioner Garcia have been talking about, the Commission

wouldn't need to choose one of these cost models, would

they?
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COMMISSIONER GARCIA: I'm sorry, Mr. Henry, what

was the question?

Q To implement the proposal that you have been
discuseing, we wouldn't need to actually determine what the
cost of local universal service was?

A 1 guess the answer is yes. And let me try to
explain what that means to me. To be compliant with the
Florida Legislature, I think the Commission has an
obligation to select a cost model, and do it using a proxy
model. But, the door is swinging wide open as to what you
do with that information. And I guess the proposal that I
have been talking about goes way beyond selecting a cost
model and reporting that to the legislature. I mean, it's a
dramatic restructuring of the communications industry in the
State of Florida.

Q I would agree it would be quite dramatic. The
5487 million fund that would be created as a result of this
proposal that was beinc discussed, if that fund was created,
the company would be receiving §284,000,451 roughly from its
customers, and 487,092,000 from a government check, in
effect, right? You would be invoicing the rest of the
industry to recover that amount, correct?

A The support mechanism hasn't been determined yet.
Let's aspume -- I don't think I can answer that yea, 1I'm

not sure whether I can answer that no or not, so let me try
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Lo explain what I'm thinking, The $487 million, i1f jg
to be charged on the bagig of retail revenue would be
charged to GTE's retail Customers, as well. And so what j
really sayas ig that we have defined the level of economic
Cost, and I have Baid before I don't exactly agree with the
number, but we have honetheless defined it.

And that Support, anything above that leve] of
economic cost ig 4 universal Service support. 1In esgence --
I hate to even use the word -- jtig 4 hidden tax. It's that
simple. And so the broader You can flow those dollara
4cross, the batter off all customers are. And there are a
lot of ways to do that, some more optimal than others. And
I view it as a benefit in the long-run to the customera in
the State of Florida, becauge what we are saying is that
outside of intervention, it's doubtfyul that univergal
8ervice would have ever existed in the firet place. And aso
NowW 1t exiats ang Customers have to Pay for it because they
are the direct bﬂnef1ciarlea of that existence. panqd 8o, 1
mean, you can run the numbers and the Percentages any way
You want, but the Customers benefit by the fact that there
8X18ts univerga] dervice,

o One final question, I believe you also discusaed
that you believed the f¥atem whereby we Create a fund for
9487 million and You get to reduce Your rates by that Bame

amount so that YOUr revenues from Customers are 284.5
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to explain what I'm thinking. The $4B87 million, if it were

to be charged on the basis of retail revenue would be
charged to GTE's retail customers, as well. And so what it
really says ie that we have defined the level of economic
cost, and I have said before I don't exactly agree with the
number, but we have nonetheless defined it.

And that support, anything above that level of
economic cost is a universal service support. In essence --
I hate to even use the word -- it's a hidden tax. 1It'se that
simple. And so the broader you can flow thcee dollars
acrops, the better off all customers are. And there are a
lot of ways to do that, some more optimal than others. And
I view it as a benefit in the long-run to the customers in
the State of Florida, because what we are saying is that
outside of intervention, it's doubtful that universal
service would have ever existed in the first place. And eo
now it exists and customers have to pay for it because they
are the direct beneficiaries of that existence. And so, I
mean, you can run the numbers and the percentages any way
you want, but the customers benefit by the fact that there
existe universal service.

o One final question. 1 believe you also discussed
that you believed the system whereby we create a fund lor
$487 million and you get to reduce your rates by that same

amount 8o that your revenues from customers are 284.5
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million, that you believe carriers would be incented to come

in so that we could win a customer so that we could invoice
the fund, so that we could draw down a government check?

A Well, the alternative is worse. 1 would say
essentially, yes, but the alternative is that you enter in
Iampa to avoid having to pay these supports. That is
exactly what competitors do today. They enter into the
market to avoid paying it. Who is the bad guy? I don't
think it's me. All I'm saying is there is a cost of
universal servire, let's have customers pay for it. And we
can do it in a broad base or a small narrow base. Today no
one is paying for this as competitors enter. This is
exposed subsidy that will as sure as we are sitting here go
away. You can count on that. It 4ill simply go away if UNE
prices are set at the levels they are set. And that is what
they are set at. That's my anawer.

COMMISCIONER DEASON: Mr. Henry, are you
finished?

MR. HENRY: I have nothing further, thank you.

COMMISSIONER DEASON: I've got just a few
questions of Mr. Seaman. I believe you indicated earlier,
if I took notes correctly, that you have the need of $225
million annually to subsidize remidential service to equate
it to its economic coset, am I correct?

WITMES3 SEAMAN: Yes, and just let me remind you
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what that is.

COMMISSIONER DEASON: I think I know what that
is. Let me ask my next question. You have also indicated
there is 487 million of implicit support from the services
that you have listed on Page 6 of your prefiled direct
testimony. And if you subtract the 225 million from the 487
million, I believe you indicated that there is $262 million
of contribution which is necessary to cover the total cost
«f the corporation above just economic cost, because we all
know that there are costs above economic costs. Did I
understand that testimony correctly?

WITNESS SEAMAN: That's correct.

COMMISSIONER DEASON: Okay. Now, if there is
$262 million in contribution needed to cover the general
cost of the corporation above strict economic cost, wouldn't
it be fair to assume that the services listed on Page 6
should be priced to contribute some of that contribution to
your needed 262 million?

WITNESS SEAMAIl: Can I ask you to repeat the
gquestion?

COMMISSIONER DEASON: Surely. You have indicated
that there is 262 million in contribution needed for you to
cover your total cost, okay. And that ie derived by
subtracting the 225 from the 487. And we all realize that

the company's total costs need to be recovered, assuming
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that those total costs are at an efficient level. My

question is wouldn't it be fair rto assume that the services
liated on Page 6 should be priced so as to contribute at
least some of the needed 262 million, i.e., the other
services should not be priced at their strict economic cost,
they should be priced to give you some of that 262 million
contribution?

WITNESS SEAMAN: That is a fair question, and the
way that I would try to address it ideally would be to take
the center column on Page 6 and change my economic cost.
Because my personal belief is that those numbers are too
low.

COMMISSIONER DEASON: Those numbers are too what?

WITNESS SEAMAN: Too low. If we were to look at
cost studies, say BCPM, and put BCPM in there, that number
changes dramatically. But the numbers are what they are.
Those numbers are in the marketplace today.

COMMISSIONER DEASON: So if we assume then that
we are going to price those ibove thop: «conomic costs as
you have them, then the $487 million is reduced by some
amount ?

WITNESS SEAMAN: Yes.

COMMISSIONER DEASON: Now my next question. If
we rebalance rates so basic residential rates go up, there

is also a reduction in the needed subsidy fund, :s that
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correct /!

WITNESS SEAMAN: That's correct.

COMMISSIONER DEASON: So when we are saying the
government is writing you a check for $487 million, that 1is
probably worst case scenario?

WITNESS SEAMAN: Yes, that's exactly right. And
it's using the unbundled network element costs. And just to
make sure that we are perfectly clear, when I say change
Column B here, I'm basically saying I think there is a
better economic cost for those things than what represents,
than what is represented hore in Column B. I'm not saying
make it arbitrarily different, I believe there is a
different economic cost that ought to be in that column.

COMMISSIONER GARCIA: You think it's greater?

WITNESS SEAMAN: I think it's greater, yes.

CHAIRMAN JOHNSON: Do you have any other
questions?

COMMISSIONER JACOBS: One guestion. Would your
cost be basically what you reflected as your retail prices
on your exhibit? 1I'm sorry, your estimated TELRIC on your
exhibit? Your economic -- what you have proposed to be your
cost in the middle of Page 67

WITHESS SEAMAN: Yes.

COMMISSIONER JACOBS: I'm trying to get an idea

of what that would be. And 1 see in your exhibit, or
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actually it's the page just preceding the one we have been

looking at, 00029157
WITNESS SEAMAN: Right.
COMMISSIONER JACOBS: You have a column that's
listed as your estimated TELRIC, is that what you would

propose?
WITHMESS SEAMAN: I'm sorry, I'm having trouble

hearing you.

COMMISSIONER JACOBS: I'm sorry. I have been
told that. In your Exhibit 0002915, it's just the page
preceding the one we have been looking at.

WITNESS SEAMAN: Okay, I'm on 2915.

COMMIBSIONER JACOBS: The very last column, is it
G? Would that be what you would propose for that middle
column on Page 67 Actually, I'm sorry, no, that wouldn't be
-- those are the totals. But it would be based on these
numbers I guess is what I'm asking.

WITNESS SEAMAN: I guess I'm having a little
trouble, partly because I'm still having trouble hearing
you. But this 2915 is a price out of the existing revenue
stream.

COMMIESIONER JACOBS: Okay. What [ hear you
saying, let me -- what I hear you saying is that what you
have listed on Page 6 now is understated, is that correct?

HWITHESS SEAMAN: Yes, ] believe ic is.
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COMMISSIONER JACOBS: And what I'm searching for

is what you would propose to make it correct, okay. And I'm
asking is thia a guide? I know it's not the exact number,
but is this a guide to the correct number?

WITNESS SEAMAN: I think that is somewhat
problematic, because --

COMMISSIONER JACOBS: It could be. I may be
totally off base. Feel free to tell me that.

WITNESS SEAMAN: 1 mean, it's a valid question.
The problem that we have, that GTE hae and the problem that
I have in answering your question without rubbing my head,
is there is a fairly lengthy docket that found -- that had a
finding on unbundled network element prices and costs. And
8o you kind of have to go back to the begianing in my view
and --

COMMISSIONER JACOBS: 1 recall your diecussion on
that earlier.

WITNESS SEAMAN: Right,

COMMISSIONER JACOBS: Okay. Thank you.

COMMISSIONER DEASON: But just because we set a
price for UNE at a level, if a competitor is going to take
advantage of that price they still have their general
overheads that they have to meet as well, isn't that
correct?

WITNEBS SEAMAM: That's correct.
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COMMISSIONER DEASON: Comparable to your 262

million which you referenced earlier.

WITNESS SEAMAN: Well, I don't know if it 1is
comparable or not, but --

COMMISSIONER DEASON: Well, I'm not talking about
in amount, but comparable in concept. They have total costs
they have to meet as well above just whatever incremental
costs they incur?

WITNESS SEAMAN: Yes. And when we did the
analysis on -- when we did the analysis, and the support for
the analysis is on MCS-1, Page 1-of-1, what we did is we
added in retailing cost to those unbundled network element
costs, so that we could count the fact that competitors will
have retailing costs. So we have raised the number already
for that amount.

COMMISSIONER DEASON: But your 262 million is
more than just retailing costs, is it not?

WITNESS SEAMAN: Exactly. I mean, it's -- I
think of it as being --

COMMISSIONER DEASON: It's the prudent cost, as
you characterize it, of running your corporation above your
incremental cost of all the services you provide?

WITNESS SEAMAN: Yes. And if competitive local
exchange carriers have a prudent cost of significantly

higher than your resale discount, then this number is
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missing that.

CHAIRMAN JOHNSON: Mr. McGlothlin, how much will
you have?
MR. McOGLOTHLIN: Probably five minutes.
CHAIRMAN JOHNSON: Go ahead.
MR. McGLOTHLIN: Thank you, Commissioner,
CROSS EXAMINATION
BY MR. McGLOTHLIN:

Q My client has had a focud on the case, 8o I have
been crossing other witnesses, and I just have a few
questions here. And I will try not to plow old ground too
much.

Mr. Seaman, ! am Joe McGlothlin with the FCCA.
It appears to me that your testimony and your proposal is
built upon a couple of propositions or definitions that I
want to go over with you very quickly.

A Okay.

Q Firet of all, your proposal depends on the
proposition that the cost of providing local service is
accurately quantified by the company's existing revenue, is
that correct?

A That's correct.

Q And flowing from that, your proposal alsoc depends
on the proposition that every dollar beyond economic cost

that is generated by services other than basic local service
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is hy definition a necessary contribution or support tc the

cost of local service, is that correct?

A I don't think so, no.

Q Why is that not correct?

A The supports. I guess, the prices in retail rates
today serve to cover the firm's in access -- serve to cover

the firm's total cost. So those two things don't equal as
far as I know. All I'm suggesting is that we have through a
proceeding in Florida defined the economic cost of the basic
building blocks of the network, the pasic local network, and
that we need to recognize those buildings blocks in
determining how much subsidy exists in the rates today. And
it's an ebb and flow. There are subaidies and supports all

over the place.

Q But to the extent that some services provide
revenues in excess of economic costs, your contention is
that those revenues are necessary to support the subsidized

services, correct?

A But not necesasarily in that category.
Q In which category?
A The category that is over cost. It may be too

far over cost, as is access, 80 it needs to come down.
Q I believe you alsc state that, and let me make
clear that by trying to characterize your proposal I'm not

at all agreeing with these things, but you say that if the
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proxy model yields or indicates a subsidy or needed subaidy

less than the $487 million, it is your opinion that it
should be adjusted to provide the full amount of subsidy you
recommend, is that correct?

A Yes. Well, I don't know if the cost model needs
to be adjusted or not. The $487 million is the number that
we believe is the lwmplicit supports in the rates today.

It ‘s that simple. No matter what the costs show, no matter
what an incremental cost study showa for baric local
service, So I don't know if you need to adjust it or not is
I guess the clarification.

Q Okay .

A The support needs to reflect the principles that
I outlined on Page 6.

Q Isn't the purpose of the universal service fund

to provide support for what are defined to be the high cost

areas?
A Certainly no.
Q Okay. Is the purpose of the universal funad

service fund then to assure that GENTEL will not be exposed

to loss of revenues in a competitive environment?

A Ahsolutely not.
Q Ien't that the end result of your proposgal?
A Absolutely no.

Q 1f you receive the $487 million subsidy that you
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propose, designed to dovetail with the existing level of

revenues, how would you lose revenues in a competitive
environment?

A As competitors entry, as competitors enter, they
take revenue and they may, in fact, take the support dollars
away and GTE will incur losses when that happens.

MR. McGLOTHLIN: Those are all the questions I
have.

CHAIRMAN JOHNSON: We are going to recess until
tomorrow at 9:00.

(Off the record briefly.)

CHAIRMAN JOHNSON: We will go ahead and finish up
your questions then, 8o he can perhaps leave. You only have
five minutes worth?

MR. COX: Less than five minutes, I think.

CHAIRMAN JOHNSON: What alout the -- well, Ms.
Caswell, what is the redirect going to be like?

MS. CASWELL: We might have a couple of
guestions,

MR. POWELL: Madam Chair, unless there is some
huge surprise from staff, I don't anticipate any redirect.

CHAIRMAN JOHNSON: Okay. Go ahead.

CROS5 EXAMINATION
BY MR. COX:

Q Good evening, Mr. Seaman. Will Cox on behalf of
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the Commiss.on staff. I just have a couple of questions for

you.

A Hi.

Q Is it your understanding that as a result of this
proceeding the Commission will issue a report to the
legislature which will estimate the cost, using
forward-looking costa based on a geographic area no larger
than a wire center for basic local telecommunications
service, is that your understanding?

A Yea.

Q Okay. For purposes of that report, how would you
define cost? For example, would it be the total annual or
monthly costs, or would it be the average per line cost for
whatever geographic area was selected?

A For purposes of the report, I think I will ecall
it economic cost, which is forward-lonking. And you are
asking me how would I state the costs?

Q Correct.

A I guess that's a good question, because there is
more than one, there are hundreds. At each wire center, I
guess, the cost would be stated on a per line basis by wire
center.

Q Would the per line basis be annual, monthly, how
should that be reported?

M It would probably be easiest to report it on a
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monthly basis, because that's what most people are familiar

with looking at.

o My last line of questioning relates to Page 23 of
your direct testimony, at Line 18, where you stated that
ceats should be calculated on a basis smaller than a wire
center, but you didn't specifically specify what level those
costs should be based on. And staff sent out Interrogatory
40 to OTE, and essentially asked the question what level
eoould it be based on if it should be something leas than a
wire center. And you responded, and you talked about a base
rate area, and I wae wondering if you coula explain that
response that you had for this level of --

A I queanp I was thinking of a base rate area as
being roughly a circle around the wire center of
approximately 12,000 feet. I think there is a significant
cost break in providing services to customers inside the
base rate area versus outside the base rate area. And 1
think that's all I meant by that.

Q Now, at what level did GTE actually file
information? Didn't you actually file it at a grid level?

A I'm not sure. 1 know we used BCPM, and I'm not
sure whether it was at the grid level or the wire center
level. You will have to ask Dave Tucek.

Q Why did you think we should use something less

than at a wire center level?
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A Only because there is a significant variation of

cost as you look at the density patterns within the wire

center.

Q Okay. And you base that conclusion on empirical
data?

A No, 1 haven't conducted anything perscnally on

that. I just know from a lot of years of experience that
that is the case. What I don't know is whether or not Mr.
Tuzek can provide any empirical break points on that or not,
I don't know. I just know that density is a big cost
component, and the more lines that you have in a tighter
density, the more significant reductions there are in cost
versus customers that sit outside of that dense pattern of
customers. And my reccllection is that the 12,000 feet was
provided from ocur engineers, and I just simply accepted it,

MR. COX: Okay. Thank you, Mr. Seaman. That
concludes Staff's questiona.

CHAIRMAN JOHNSON: And there is no redirect?

MR. POWELL: No, ma'am,.

MR. REHWINKEL: Madam Chairman, Charles Rehwinkel
with Sprint. I just wanted to bring up one matter. I've
checked with the crosa examining parties and discussed it
with staff, Carl Laemmli, who is listed as a model witness
is really an input witness, and we would ask that be placed

after Mr. Dickerson in the order. And I don't think anybody




10

11

12

13

14

15

16

17

18

19

20

21

22

£3

24

25

1410
has a problem with that.

CHAIRMAN JOHNSON: Okay. Will do.

MR. REHWINKEL: Thank you.

MR. POWELL: Madam Chair, is this also a good
time to move into evidence the exhibits to Mr. Seaman's
testimony?

CHAIRMAN JOHNSON: Uh-huh.

MR. POWELL: I think you may have misspoke when
you identified them. I think you may identified MCS-1 and 2
as 34 and --

CHATRMAN JOHNSON: I should have said 54.

MR. POWELL: 54. 5o with that correction [ 11d
move in Exh:oite 54 and S5,

CHAIRMAN JOHNS(N: Show those two admitted
without objection. Thank you.

(Exhibit 54 and 55 received into evidence.)

MR. POWELL: Thank you, ma'am. One more
housekeeping item with respect to Mr. Olson's testimony
tomorrow. There is a single page exhibit attached to Mr.
Oleson's testimony. There are some corrections, and 1 have
those available for the Commisesion and Staff and the parties
right now if anyone would like te have them today.

CHAIRMAN JOHNSON: Okay.

MS. CASWELL: They are over here with the other

itema at the table.
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MR. POWELL: And just for the ease of people

looking at them, the corrections are the last five entries
in Column B, as in boy.

CHAIRMAN JOHNSOM: Thank you.

MR. POWELL: Yes, ma'am.

CHAIRMAN JOHNSOM: And the witness has been
excused and we will go ahead and adjourn for this evening.

{(Tranacript continuesa in seguence with Volume

13.}
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